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Name No.

2010 State Farm Business Management, Part1

Select the best response foreach questionand mark that answer on theanswer sheet withapenor
pencil. Black out the correct "bubble,"© © © ®.

1. Why do farmers generally have no control over prices of their products?

A. ™ there are many sellers competing in the market
B.  futures market speculators setprices

C.  middlemen set prices

D. the Federal Price Stabilization Board sets prices

2. The process of discounting involves:

A.  figuring future returns conservatively so as not to overestimate future profits.

B. makinganoffer belowtheprice youwould otherwise be willingtopay inthe hopethe
lower price will beaccepted.

C. * figuring the present value of income or costs that will occur in the future.

D.  figuring the future value of income or costs.

3. Theadjusted basis of an asset for tax purposes is defined as:

A. thecost.

B.  thecash boot paid regardless of the trade-in.

C. * thecost, plus major improvements, less depreciation.
D. value left after deducting expenses.

4.  Bydiversifying crop enterprises rather than specializing in one major crop, the farmer may:

A. * reduce risk anduncertainty.

B.  decrease annual labor efficiency.

C. facilitate the use of more labor saving equipment.
D. increase risk and uncertainty.

5. OnMarch 1,2009, alawnand garden center owner borrowed $25,000 tobuy bedding and nursery
plants. OnDecember 1,2009, the owner repaid the$25,000 loanalongwith$1,828.13 interest.
What is the annual rate of interest on the loan?

A* 9.75%

B. 11.25%
C. 11.75%
D. 12.25%
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10.

11.

The increase incorn yield decreases foreach additional pound of nitrogen after 50 pounds applied
per acre. This isan example of:

A. decreasing total production.
B. increasing marginal product.

C. * diminishing marginal product.
D. therisk of using too muchfertilizer.

Which of the following criteria for ranking investments considers the time value of money?

A. simple rate of return method
B.  payback method
C.  the extrapolation method

D. * net present value method

Aninvestor usesa 10percentdiscountrateinanalyzinginvestments. A$10,000 returntobe
received in two years has a present value of:

A* $8264

B. $9,091

C. $11,000

D. $12,100

Thedifference betweenthepriceofafutures contractandthelocal cash
price is:

A.s Dasis.

B.  bid price.

C.  margin.

D.  mark-up.

The value of a resource in its next best use is called:

A. variable cost.

B.  foregone interest.

C. + opportunity cost.

D. value of the marginal product.

Which of the following should be used to determine the amount of net return earned by the

-farm?

A. cash flow

B. * income statement
C.  partial budget

D.  enterprise budget
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12.

13.

14.

15.

16.

17.

Which of the following is a fixed cost?

A. interest on operating capital

B. « depreciation on buildings and equipment
C.  seedand fertilizer

D. fuel and lubrication

During the last 12 months, a farm had cash receipts of $15,000 from the sale of crops, and cash
outlays of$ 14,000. The farm had a:

A.  net farm income of$1,000.

B. * positive cash flow of $1,000.

C. net worth increase of$1,000.

D. depreciation change of $1,000.

The financial condition of a business at a point in time is best shown on a(n):

A. * net worth statement.
B. income statement.
C. cash flowstatement.
D. depreciationrecord.

Renting farm land on shares of production rather than cash resultsin:

A less risk for both the landlord and tenant.

B.  more risk for both the landlord and tenant.

C less risk for the landlord, more risk for the tenant.
D. * more risk for the landlord, less risk for the tenant.

If a farmer borrows $20,000 for 5 months at 9% interest, how much interest is due at the
end of 5 months?

A* $750
B. $900
C. $1,160
D. $1,800

A farmer has 80 acres of wheat which produced 2455 bu. and the price of wheat is $3.95 per
bushel. The farmer's operating costs of productlon were $37.45 per acre and fixed costs were
$19.25 per acre. What isbreakeven yield?

A.  5.05 bu peracre
B 9.48 bu peracre
C. * 14.35 bu peracre
D.  30.69 bu per acre
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18.

19.

20.

21.

The durum wheat yield has averaged 33 bushels per acre and the sunflower yield has averaged
1480 pounds per acre. Production costs for durum wheat are $98.00 per acre and sunflower are
$119.00 per acre. If the price for durum wheat is $5.75 per bushel, what price would you need to
receive for sunflowers to equal the net returns received for durum?

A.  $6.62 percwt
B.  $8.04 per cwt
C.  $12.60 percwt
D. « $14.24 per cwt

How much anhydrous ammonia (NH3) should be applied to maximize profits, if wheat is$3.25
per bushel; NH3 is $325 per ton and the wheat responds to each additional 10 pounds of NH3
by the following yield increases?

NH3INCREASE WHEAT YIELD INCREASE
first 10 pounds 3.00
second 10 pounds 2.50
third 10 pounds 2.00
fourth 10 pounds 1.25
fifth 10 pounds 0.50
sixth 10 pounds 0.00

A.  10poundsofNH3
B. 40 pounds of NH3
C. - 50 pounds of NH3
D. 60 pounds of NH3

A farmer purchases 500-pound feeder steers for $0.60 per pound and plans to sell the steers at
800 pounds. The farmer estimates the total cost of gain to be $0.55 per pound. The nearest
breakeven price when the steers are sold at800 pounds is:

A.  $0.55/pound.
B.  $0.57/pound.
C.* $0.58/pound.
D. $0.60/pound.

Asoybean producer decides tostore soybeans inthe local elevator for three months. The price at
harvest is $6.00 per bushel. The elevator charges $0.02 per bushel per month for storage, plus a
$0.05 per bushel handling charge. The producer has 5,000 bushels to sell and must borrow
$30,000 at 8% annual interest while he stores the soybeans. What price must be received for the
soybeans to break even and cover the storage and opportunity costs?

A $6.23
B. $6.32
C. $6.39
D. $6.44
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22.

23.

24,

25.

26.

27.

A farmer is purchasing a new baler at a cost of $24,000. The dealer is financing the baler under
the following terms: 10% down payment with the balance repaid in equal payments over the
next five years at 8 % APR. The farmer expects the baler to last for 7 years and have a salvage
value of $5,000. How much interest will the farmer pay the first year of the loan?

A $1,728
B. $2,340
C. $2800
D. $3,120

A $1 deductible expense (before tax) will cost_ after tax if the farmer's marginal tax rate
is 40%.

A $0.00
B .$0.40
C. *$0.60
D $1.00

A $50,000 loan is amortized at 8% interest for 7 years and yields annual payments 0f$9,604.30.
How much of the first year's payment is principal?

A.  $4,000.00
B.  $4,604.30
C.+ $5,604.30
D.  $9,604.30

For the above loan of $50,000, how much total interest is paid over thelife of the loan?

A $4,980.01

B.* $17,230.10
C.  $28,000.00
D. $67,230.10

Liquidity is best described as:

A.* the ability to meet cash obligations as they come due.
B.  total assets minus total liabilities.

C.  having no long-term debt.

D. the rate of capital turnover.

A cattle feeding operation has sales 0f$60,000, feed purchases 0f$40,000, other costs 0f$2,000,
an opening inventory 0f$40,000, and a closing inventory 0f$32,000. What is the net farm
income for this operation on an accrual basis?

A, $2,000

B.« $10,000
C. $18,000
D.  $20,000
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28.

29.

30.

31.

32.

33.

Inanalysis of a farm, what would you do ifa cash flow projection indicated that there
would be more expenses than income in a certain month?

A.  tenninate the enterprise causing the cash flow problem that month
B.« usesavings, delay expenses, move up sales, or borrow money

C.  change from cash to accrual accounting method

D. change depreciation methods

Ifa farmer writes a check for $8,000 to pay off the remainder ofa tractor loan:

A. assets are reduced and equity declines.

B. liabilities are reduced and equity increases.

C. *assets and liabilities are reduced and equity is unaffected.
D. assets, liabilities, and equity each decline.

Afarmer hada net fann income last year 0f$40,000. The farmer paid $10,000 for interest on
borrowed capital during the year. Opportunity costs for unpaid family labor and management
were $30,000. Equity inthe business was $200,000. What was the percent return onequity?

A* 5%

B. 10%
C. 15%
D. 20%

The specified price at which the option purchaser may buy or sell the commaodity is the:

A. * strike price.
B. call price.

C.  putprice.

D. option price.

An increase in the demand for beef with no change in beef production or other factors will:

A.  decrease the price for beef and increase demand for feed.
B.  decrease the prices for pork and poultry.
C. * increase the price ofbeef.

D. reduce beef prices and increase pork prices.

A lease between a landlord and a tenant is equitable if it:

A.  divides returns equally between the landlord and thetenant.
B. iswritten by an attorney.
C.  holdsstrictly to traditional lease rates in the area.

D. * dividestheincome between the landlord and the tenant according tothe contribution of
each.
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34.

35.

36.

37.

38.

Which of the following has NO direct impact on the production costs of a certain product?

A.  production methods
B.  amount of input used
C. * consumer demand

D. size of the operation

One possible advantage of incorporating the family farm is

A. the need to keep fewer records

B. * limited liability

C. double taxation

D.  fewer regulations and rules to follow

If the cost of producing an acre of canning peas is $280 and the expected yield is 2000 pounds per
acre, the break-even selling price must be

A. 8cents/lb

B. 10 cents/lb
C. 12 centslib
D.+ 14 cents/lb

An accrued liability that must be paid within the year is a

A.  current asset

B. non-current asset

C.  non-current liability
D.

* current liability

A farmer has a debt:equity ratio of 2: I. The current liabilities total $50,000 and the non-current
liabilities total $90,000. What is the value of the assets?

A.  $280,000
B. $210,000
C.  $140,000
D.- $70,000
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Use the following information to answer Questions 39-42:

Present Future Present

Value of Value of Value of
N a$l a$l Annuity
[ 0.913 1.095 0.913
2 0.834 1.199 1.747
3 0.762 1.312 2.509
4 0.696 1.437 3.205
5 0.635 1.575 3.840
6 0.580 1.724 4,420

39. Analfalfa field will produce $500 income during the first year, $1,000
each year for the next 4 years, and $750 the sixth year. What is the
present value of this income stream?

A $3818.50
B. $4,676.50
C. $4,731.50
D. $5,589.50

40. A beef cow produces $BO/year for 5 yearsand canbesold for $400 at the end of the fifth year.
Determine the present value of the cow.

A* $561.20
8. $624.70
C. $663.10
D. $836.50

41. With two years of income remaining in a beef cow, how much should she be worth?

A. $305.42
a.® $473.36
C. $581.72
D. $606.81

42. Ifthefarmer expects interest ratestodecrease, but nodecrease innetreturnstocattle, whatimpactis
this likely to have on the present value of the beef cow?

A.  decrease the present value

B. « increase the present value

C.  would not change the present value
D. cannot tell
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43. Commercial fertilizer should be applied to crops as long as the:

added fertilizer increases crop yields per acre.
added production increases gross farmincome.
added fertilizer maintains soil productivity.
* value of the increased production is greater than the added costs of the fertilizer.

(OR QR

44. For maximum net returns, a farmer should substitute machinery for labor when:

the annual costs of machine use are equal to the costs of labor.

» the value of labor saved is higher than the costs of the machine used.
there is a limited supply oflabor.
the additional machine will increase labor efficiency.

00>

45. Anincrease in the value of the U.S. dollarrelative to the currency ofother countries should result
in:

more costly imports tothe U.S.
less costly imports tothe U.S.
increased exports to the U.S.
no effect on imports orexports.

DO W

46. Afarmer has$10,000 in equipment used exclusively for com. Assume that this equipment will last5
years and have asalvage value 0f$0. The farmer plans to plant 100 acres of com each year. Assuming an
interest rate of 8% onaverage annual investment, what will be the average fixedcosts per year for the next5
years (depreciation and interest) for this machinery per acre ofcom?

A, $16
B. $20
C* $24
D. $28

47. The main difference between cash and accrual accounting is that accrual accounting includes:

A.  achargeforunpaidfamily labor.

B depreciation.

C*. adjustments for changes in inventory.
D. sales of capital assets.

48. A farmer has total assets 0f$250,000; total liabilities 0f$156,000; and net worth of$94,000. The
debt/asset ratio is:

A, 381
B. 60:1
C* 62:1
D. 961
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Afarmer hasa$50,000 loanamortized at 9% interest for 15 years. Use the information to
answer questions 49-51. Note: round answers to the nearest dollar.

49. The loan's yearly annual payment is $6203. How much of the first year's payment is principal?

A, $1,092.
B.* $1,703
C. $2592
D.  $4,500.

50. If the 15th and final payment includes $512 of interest, what was the outstanding principal
balance after the 14th payment?

A, $4500
B  $4,622
C. $4,715
D.* $5691

51. How much total interest is paid over the life of the loan?

A $7544
B* $43,045
C. $51,852
D.  $101,852

52. Crop insurance, hedging, options, and liability insurance provide a means of:

A increasing profits.
B king capital.

C.+ reducing risks.

D. lowering costs.

53. Assume an acre ofland will produce an average net return to land of $40.00. A farmer wants a 7%
return to land. What is the maximum the farmer can pay for an acre of this crop land?

A $280
B.  $400
C. $428
D.* $571

54. A farmer has liabilities 0f$456,000, and assets totaling $658,000, of which machinery is $240,000.
What will the farmer's debt/equity ratio be if the lender devalues the machinery by 10%?

A, 139
B. 225
C.* 256
D. 3.56

10
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55. Ifthe debt toequity ratiois 1:2, the return on equity is 12%, and the average interest rate on debt is
9%, what is the return onassets?

A" 11.00%
B. 10.00%
C. 9.00%
D. 10.50%

56. The present value of$100 that will be received at the end of 1 year, given a 5% interest (discount)
rate is:

A, $90
B.* $95
C $100
D. $105

57. Anelevator quotes the price per bushel of soybeans at "25 cents under November futures." What
would futures have to sell for to provide a cash price of $7 per bushel?

A, $6.75
B* $7.25
C. $7.50
D. $8.00

58. A local elevator quotes com at 20¢ under March futures, and will pick up the grain for free. A
terminal quotes 5¢ under, but it costs 10¢ to haul it there. If March futures sell for $3.25, where can
you get the highest net price, and how much is it?

A*  $3.10 at the terminal
B.  $3.20attheterminal
C.  $3.20attheelevator
D. $3.05attheelevator

59. In July a farmer sells November futures at $7.35 to hedge new crop soybeans. At harvest, the farmer
buys back the contract for $6.85,and sells July futures for $7.15. What is net futures selling price for the
July contract?

A.  $6.85
B. $7.05
c. $7.35
D.x $7.65

60. A farmer can produce 100 bushels of wheat per acre with 100 Ib. of commercial fertilizer peracre. A
second 100 Ib. of fertilizer will produce an additional 20 bushels of wheat. Athird application of 100 Ib. of
fertilizer will increase production by 10 bushels, and a fourth 100 Ib. will add 5 bushels of wheat tototal
production. Ifeach100Ib. offertilizer costs $15.00, andabushel of wheatisworth $2.75, how many pounds
of fertilizer should be used to maximize net income?

A. 100
B. 200
c.e 300
D. 400

11
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2002 STATE AG ECON TEST

Section 1 MULTIPLE CHOICE Name_ _ — — — — — —

Select the best answer for each question. Each question is worth 5 points.

1.

A farmer owns a 10,000 bushel grain bin and is deciding whether to store or sell this
year's crop. The farmer should store the crop if the:

current cash price does not cover the production costs.

future price will probably be the same as the current cash price.

grain bin is paid for.

future price exceeds the cash price by at least enough to cover variable storage costs
plus interest andshrinkage.

Q0 o

Renting farmland on shares of production rather than cash results in:

a. less risk for the landlord and and more risk for the tenant.
b. more risk for the landlord and less risk for the tenant.

c. more risk for both the landlord and the tenant.

d. less risk for both the landlord and the tenant.

By adding a poultry enterprise to a crop farm, a producer becomes more:

integrated.
motivated.

specialized.
diversified.

Qoo

The law of diminishing returns occurs when:

yields are declining.

inputs are declining.

marginal physical product is declining.
average physical product is negative.

oo

When preparing an annual budget for a com production enterprise, land ownership costs
are considered to be:

a variable cost.

a depreciable cost.
an operating cost.
a fixed cost.

coopw
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10.

Wheat yields an average of35 bushels per acre while sunflower yields an average 15 cwit.
peracre. Production costs for wheat are $116.00 per acre and for sunflowers are $121.00
per acre. If the price for wheat is $3.65 per bushel, what would the price per cwt. of
sunflowers need to be to equal the net return for wheat?

a. $8.40
b. $8.85
c. $9.10
d. $10.00.

Crop insurance provides a means of:

lowering costs.

reducing risks.

increasing profits.
increasing working capital.

oo o

A farm manager is considering the purchase of a used combine. The machine would have
fixed costs of $12,500 per year and variable costs of $15 per acre. The local custom rate
is $25 per acre. How many acres per year must be harvested to justify the purchase?

a. 1000
b. 1125
c. 1250
d. 1375

The primary reason for hedging cattle with futures or options is:

to guarantee a profit
to increase price risk
to reduce price risk

to eliminate price risk.

o0 o

If a field of canola produced 9 cwt. per acre and the fixed costs of production were $50.50
per acre and the variable costs were $23.75 per acre, what was the total cost per cwt of
canola produced?

a. $2.64
b. $2.97
c. $5.61
d. $8.25
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11.

12.

13.

14.

15.

Expenses that have been incurred but not yet paid are:

spent expenses
accrued expenses
recorded expenses
cash expenses.

ooow

As additional units of a good or service are consumed, the satisfaction derived from the
consumption of each successive unit is reduced. This statement defines the:

law of comparative advantage

principle of ceteris paribus

principle of diminishing marginal rates of substitution
law of diminishing marginal utility

point of diminishing marginal returns.

T o0 o

What type of business is the oldest and largest in number in the United States today?

sole proprietorship
partnerships
corporations
cooperatives.

o0 oo

Net Domestic Product (NOP) is equal to GDP minus

indirect taxes

consumption

depreciation

government transfer payments.

o0 oo

A wheat farmer is faced with applying nitrogen fertilizer to his fields prior to planting his
crop. His fertilizer dealer has notified him that the price of nitrogen fertilizer has just
decreased by 25 percent. The farmer expects the price of wheat at harvest time to be
$2.50 per bushel. What should he do?

a. apply 25 percent more fertilizer than last year

b. apply less fertilizer than last year because of the low wheat price

c. apply that amount of fertilizer where the fertilizer cost added by the final bushels
produced is $2.50

d. apply that amount of fertilizer where the marginal cost is $2.50 + 25% (2.50)/bu.



16.

17.

18.

19.

20.

21.

Updated 4/15/2013

The price system detennines the composition of Gross Domestic Product under which
system Of politico-economic organization?

a. Communism
b. Capitalism
c. Socialism
d. Calvinism.

Who owns a Cooperative?

the proprietor

the partners

the public

the member stockholders.

aoow

When the futures price moves closer to the cash price:

a basis narrows

b. basis widens

c. basis remains the same

d. futures make less money for the hedger.

Which of the following is an operating expense?

a. purchase of milk equipment supplies
b. purchase of a milking parlor
c. purchase of apick-up

d. principal payment on a tractor loan.

The money deposited with a broker to trade futures contracts is called:

a. basis

b. margin

c. commission
d. spread.

A demand curve shows the relationship between quantity demanded and:

a. quality
b. price

c. income
d. demand.
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22.

23.

24,

25.

26.

Before harvest, a farmer has spent $20 per acre for labor, seed, and machine costs on oats.
The market price is $1.50 per bushel and the expected yield is 20 bushels per acre. The
oats can be harvested for $8.00 per acre. The farmer should:

assume a $20 loss for the year and leave the oats in the field.
harvest and sell the oats crop.

sell the oats crop for pasture of $25 per acre.

sell the oats crop standing in the field for hay at $27 per acre.

oo ow

A difference between buying or selling a futures contract and buying a put or a call option
is:

the cost of the futures contract is fixed, but the option is subject to margin calls.
the cost of the option is fixed, but the futures contract is subject to margin calls.
no difference-both are subject to margincalls.

no difference-neither is subject to margin calls.

oo oo

The Law of Supply implies:

a. as prices for a commodity rise, production of the commodity will increase.

b. as prices for a commodity fall, consumption for the commodity will rise.

c. as additional units of a commodity are consumed, the satisfaction gained from each
additional unit decreases.

d. products can be substituted for each other, but at a diminishing rate.

e. fixed costs are independent of the level of production.

The objective of the consumer when alloca ing income among various consumption,
investment, and savings activities:

to get by as cheaply as possible.

to reduce cost of living to the smallest possible amount.

to maximize long-term net worth.

to live fast, love hard, die young, and leave lots of pretty memories.

to gain the maximum utility (or satisfaction) permitted by the level of income.

®T o0 o

For the individual firm, profits will increase if which of the following occur?

a. fixed cost decreases

b. price of the variable resource declines
product prices increase

d. all of theabove.

o
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217.

28.

29.

30.

31.

What communicates the scarcity of resource?

a. quantities supplied
b. prices

quantities demanded
d. capital invested.

o

Which of the factors below is not a ceteris paribus condition of market supply?

consumer income

technology

cost of resources

the value of production alternatives
none of theabove.

®ooop

On November 1, a rancher borrowed $300,000 to buy cattle. On May 1 of the following
year, the rancher repaid the $300,000 plus $22,500 in interest. What annual rate of the
interest did the rancher pay?

a. 10.0%
b. 12.5%
c. 15.0%
d. 17.5%

Marginal analysis is used to:,

a. determine the most profitable level of an input to use
b. measure the efficiency of a business enterprise

c. help managers decide between two different options
d. determines the maximum productivity of inputs.

A fanner can rent an additional 100 acres without having to purchase additional
equipment. The effect on costs will:

increase unit fixed costs
decrease unit fixed costs
increase unit variable costs
decrease unit variable costs.

o o o
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32.

33.

34.

3S.

36.

What is the future value 0f$1000 placed in an interest bearing account at 5% APR for
three years?

a. $1050
b. $1150
c. $1158
d. $1276

A supply curve shows the relationship between quantity suppliedand

quality

. price
income
demand.

copgwo

Fanner Ben is putting together his annual balance sheet as of December 31, 2001. He
knows he must calculate accrued interest oneach loan. He needs your help. He hasan
FMC Tractor loan withsemi-annual payments due in April and October. Payments are
due mid-month. The interest rate is 10.5%. Each payment is $6,554. Total principal
outstanding asof December 31,2001 is$41,936. How much interest accrued from mid-
October until December 31?

a. $ 688
b. $1,101
c. $ 917
d. $2,202

Farmer Ben also hasanannual land payment of$12,840. It isdue mid-August ofeach
year. The interest rate is 1 0.5% and the total principal outstanding is $77,227. How
much interest accrued inthe 4.5 months from mid-August to the balance sheet date?

a. $4,815
b. $3,041
c. $5,608
d. $676

How much of the tractor loan will Farmer Ben record onthe Balance sheet as "current
principal™” as of December 31,20017?

a. 4,731
b. 9,800
c. 8,025
d. 7,772
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37.

38.

39.

40.

41.

What is the purpose of an income statement?

a. show net liabilities
b. show net cash

c. show profit orloss
d. noneofthe above.

If a business enterprise earns a return on assets of 9% and the average cost of debt is 8%
will the return on equitybe?

more than 9%

less than 9%
show profit or loss
none of the above.

2 oo

One measure of farm liquidity is:

owner equity

net farm income

working capital

solvency

net farm income from operations.

T 20 o

Which of the following statements shows operating results over a specified period of
time?

a. balance sheet

b. statement of cash flows
c. income statement

d. aandb

e. bandc.

You decide to purchase a new truck. The sale price is $30,000. You pay $5,000 down
and your banker provides a loan of $25,000 to be repaid in equal monthly payments of
$760.55 over three years. The interest rate is 6% per year. The amounts of principal and
interest in the first payment will be:

a. principal=635.55; interest=125.00
b. principal=610.55; interest=150.00
principal=760.55; interest=125.00
principal= 698.05; interest= 62.50

e o
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Use the following information to answer questions 42 to 46.

Allacation of Capital
Marginal value products ($)
QOperating Capital Seed Eertilizer Chemicals
First $100 400 250 350
Second$100 300 200 300
Third $100 250 150 250
Fourth $100 150 105 200
Fifth $100 100 90 150

42. If only $100 of operating capital is available, which input should be purchased?
a. fertilizer b. seed c. chemicals d. all are equal

43. If all capital has to be borrowed and the interest rate is 10%, which input would the most
operating capital be invested in?

a. fertilizer b. seed c. chemicals d. all areequal

44, If only $700 of operating capital is available, how much operating capital would be used
to purchase seed?

a.$0 b. $100 €.$200 d.$300 e.$400 f.$500

45. If only $100 of operating capital is available and it was used to buy chemicals, what is the
opportunity cost of the operating capital?

a. $400 b. $250 .$350 d.$300 e. none of these
46. The table and questions represent the application of the:
a. constant returns to size principle b. production function

c. equal marginal principle d. isocost concept.

47. The values in a crop enterprise budget are normally for:

a. one bushel of output
b. 100 pounds of output
c. one unit of output

d. oneacre.
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48.

49.

50.

51.

52.

53.

We compute cost of production as

total fixed cost divided by output
total variable cost divided by output
total cost divided by total output
output selling price.

oo o

There are increasing returns to size whenever a larger business:

has a larger average cost per unit of output
has a lower average cost per unit of output
has higher fixed costs per unit of output
has no relationship to average cost.

o o

In a feed ration of corn and soybean meal, if the price of com decreases relative to the

price of soybean meal, you would now feed:

more com and less soybean meal

less corn and more soybean meal

you need more information to answer

you would continue feeding the same combination.

Qoo

We maximize profit somewhere in the range where marginal physical product is

a. decreasing but still positive
b. increasing but positive

c. constant

d. negative.

At the output level where marginal cost is equal to average total cost

marginal revenue equals marginal cost

marginal cost is also equal to average variable cost
they are both less than average fixed cost

average total cost is at its minimum value.

oo op

A grain drill has annual ownership costs of $3,600 and operating costs of $3.50 per acre.

The same operation can be custom hired for $6.00 per acre. It would be cheaper to
custom hire the drilling, if the annual use is?

a. more than 600 acres
b. less than 600acres

c. more than 1440 acres
d. less than 1440 acres.

237



Updated 4/15/2013

54,

55.

56.

57.

58.

As output decreases with no changes in total cost, breakeven price will

increase

decrease

remain constant

initially decrease then begin to increase.

20 oo

Complementary enterprises are those where:

the output of one can be increased only by reducing output of the other

the output of both enterprises can be increased at the same time

the output of one can be increased with no change in the output of the other
their substitution ratio is zero.

oo o

If a partial budget shows some fixed or ownership costs under Added Costs, it means

e

the proposed alternative requires purchasing a new capital asset
b. the proposed alternative would allow sale of a capital asset that will no longer be

needed
c. anew capital asset must be purchased next year with either alternative.
d. thereisan error on the budget as fixed costs are never included under Added Costs.

A sunk cost occurs:

in the short run once a variable input is used in the production process
in the long run when a variable cost becomes a fixed cost

in the short run when a fixed cost becomes a variable cost

when a non-cash cost becomes a cash cost.

Qoo

The main advantage of purchasing used machinery instead of new machinery is:

lower initial investment
increased reliability

a longer expected useful life
lower repair costs.

oo o

Use the following information to answer questions 59 and 60. Region A can produce 60 bushels
of com per acre and 30 bushels of wheat per acre. Region B can produce 90 bushels of com per
acre and 60 bushels of wheat per acre.

59.

60.

Region B has a comparative advantage producing
a. corn b. wheat c. both crops d. no crop

Region A has an absolute advantage of producing
a. corn b. wheat c. both crops d. nocrop
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2002 State Ag EconTest
Answer Sheet

Name_Ke . y Contest# School 1.

5 % % A
l@‘__'li 4. C 5. 8

0 — 35 A 60. D
11. 3.
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20. 4. Cl
21. 6. C
22 1) 4a1. D
23. 8 4. C.
24. I 9. 8
25, 50. A
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1999 STATE AG ECON TEST

Select the most correct answer for each question. Each question is worth 5 points.

1. A feedlot operator buys feeder steers, finished them, and sells them. The operator
estimates that finished steers will sell for $80 per cwt and that it will cost $250 per head
to grow them from the 700 pound purchase weight to the 1100 pound selling weight
What isthe highest price the operator can pay for 700 pound feeder steersto break even?

A $96.00/cwt
B $90.00/cwt
C. $80.00/cwt
D $62.50/cwt

2.  Amarketing:functionwhichtendstoregulate thesupply ofaproductand provideastable
market is:

A . assembling.

B. grading.
C.  processing.
D. storing.

3. Which ofthe following is affected by the type of business organization a farmer chooses?

A. amount of machinery owned.
B. production (crops and livestock)yields.
C. the value ofthecrops held ininventory.
D. transferability ofownership.
4. If you are considering a change inthe farm business that will affect onlya few items in

your total farm budget, this change would appropriately be evaluated using a:

A. total farm budget.

B cash flow budget.

C. depreciation schedule.
D partial budget.
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10.

Accrual accounting:

A.  records income when received and expenditures when paid.
B. records income when earned and expense when incurred.
C. does not require maintaining an inventory of assets.

D. isnot recommended byaccountants.

Net worth is a measure of:

A.  managerial ability.
B.  financial position.
C. profitability.

D. liquidity.

Which of the following is considered to be a fixed cost?

hired seasonal labor.
depreciation on machinery.
machinery repairs.

feed purchases.

cowp

Which ofthe following pricing alternatives were notavailable inthe feeder cattle pricing
exercise?

A. do nothing.

B sell futures.

C. buy put options.

D forward cash contracts.

Whichof the following statements are true regarding the use of put option contracts
(compared to selling futures or doing nothing) to help price cattle?

A.  options are always more expensive.

B. options never produce the highest net price regardless of whether pricesincrease
or decrease.

C. options produce the highest second best price regardless of whether prices
increase ordecrease.

D. A /BandCareall true.

The primary reason for hedging cattle with futures or options is:

to guarantee a profit.
to increase pricerisk.
to reduce pricerisk

to eliminate pricerisk.

Cow»
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11.

12.

13.

14.

15.

On April 1, Karen borrowed $8,000to plant com. On November 1, she repaid the $8,000
along with $49S interest. What annual interest rate did she pay?

A.

B.
C.
D.

6.187%
9.281%
10.607%
12.375%

A farmer wants to evaluate ifhe should rent additional hay acreage to replace purchase
hay for his dairy herd. Which ofthe following items would not be considered ina partial

budget?

A. rent paid and hay production costs.

B. current hay purchase price.

C. current milk production and price.

D. machinery and labor avai)ability and requirements.

One of the best measures of financial progress over a period of years would be:

A.
B.
C.
D.

income tax paid.
capital investment.
net cash income.
change in net worth.

Ifconsumers buy more beefbecause beefprices have decreased, and nothing else affects
the market, there has been:

A.
B.
C.
D.

an increase in demand for beef.
adecrease indemand for beef.
no change indemand for beef.
adecrease in the supply of beef.

Return to management is net cashfarm income.

ofe

minus debt payments.

minusthe value ofunpaid labor, depreciation, interest onequity capital, and
adjustments for inventory changes.

minus the value of operator's Jabor and interest on debt payments.

minus the interest on equity capital, depreciation, and adjustments for inventory

changes.
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16.

17.

18.

19.

A soybean producer decides to store soybeans in the local elevator for five months. The
price at harvest is $6.00 per bushel and the elevator charges $.02 per bushel per month for
storage plus $.05 per bushel handling charge. The producer has 4,000 bushels to sell and
must borrow $24,000 at 8% annual interest while storing the soybeans. What price must
be received for the soybeans to break even and cover storage and opportunity costs?

A. $6.15
B. $6.20
C. $6.25
D. $6.35

A producer sells 9 feeder steers for $98/cwt. The average weight per steer is 700 pounds.
There is a 2.5 percent sales commission and yardage fees of $2.50 per head. The net
amount received for the steers would be:

A $6,665.50
B. $6,688.50
C. $5,997.15
D. $ 666.55.

farmer who sells market hogs could use the futures market to reduce price risk by:

A

A. buying a hog Put option
B. selling a hog Put option
C buying a hog Call option
D selling a hog Call option.

A farmer was late getting soybeans planted and an early frost hit the crop before the crop
had matured. The harvest costs are $40 per acre, and the returns woul be $60 per acre
from the existing crop. Prior to the frost, $106 per acre was invested in operating
expenses. The farmer should:

A. abandon the crop because the famier cannot cover all variable expenses

B. rent the field to a neighbor for $10 per acre to use as sheep grazing, instead of
harvesting the crop

C. harvest the soybeans and sell the soybeans for $60 per harvested acre

D. harvest half of the acres and abandon the other half.
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20.

21.

22.

23.

24.

A partial budget for planting soybeans instead of com this year shows a net positive
change of $3,000. This indicates the fanner should:

A. plant com instead of soybeans to earn $3,000-more profit than if he/she planted
soybeans.

B. plant soybeans instead of com to earn a total profit of $3,000.

C. plant soybeans instead of com to earn $3,000 more profit than if he/she planted
com.

D. plant com instead of soybeans to earn a total profit of $3,000.

Farmcooperatives areformed toallow farmersto pool resourcesor commodities inorder
to save on p oduction expenses or to gain market power. Member patrons of a

cooperative control the business by voting onpolicy and electing board members. VVoting
isusually on the basis of

shares of stock in the business

one vote per member

volume of business with the cooperative
years of membership in the cooperative.

oOwp

A lease-between a landlord and a tenant is equitable if it:

divides returns equally between the landlord and the tenant

is written by an attorney

holds strictly to traditional lease rates in the area

divides the income between the landlord and the tenant according to the
contribution of each.

OO wp

In analysis of a farm, what would you do if a cash flow projection indicated that there
would be more expenses than income in a certain month?

tenninate the enterprise causing the cash fl w problem that month
use savings, delay expenses, move up sales, or borrow money
change from cash to accrual accounting method

change depreciation methods.

oo WP

A $50,000 loan is amortized at 8% interest for 7 years and yields annual payments of
$9,604.30. How much of the first year's payment is principal?

A. $4,000.00
B. $4,604.30
C. $5,604.30
D. $9,604.30.
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25.

26.

27.

28.

29.

COowp

For the $50,000 loan in question 24, how much total interest is paid over the life ofthe
loan?

A. $4,980.01
B. $17,230.10
C. $28,000.00
D. $67,230.10.

Ifthe increase inwheat yield becomes smaller foreachadditional 10 pounds of nitrogen
fertilizer applied after 30 pounds per acre have been applied, this isan example of:

A. increasing marginal returns
B. unprofitable use of fertilizer
C. diminishing marginal returns

D. elasticity.

Frank Perdue raises 2,000,000 broilersannually. Inaddition, Frank Perdue owns the feed
mill, which provides feed for the birds, owns the processing facility, and markets the
dressed birds to retail grocery stores. This type of business structure is known as:

horizontal-integration
marketing cooperative
vertical integration
supply cooperative.

The U.S. is a major exporter of feed grains and an importer of coffee, bananas, and
pineapple. We could produce all ofthese commodities inthe U.S. but choose to import

them because:

International cartels prohibit the U.S. from producing imported crops

each nation produces and exports goods for which it has a comparative advantage.
U.S. farmers do not know how to grow these crops

the U.S. allows other nations to benefit from certain crops as part of our overall

aid program.

00w

Money that isowed to a business or individual from whom products or services were
purchased is called an:

account receivable
account payable
income

expense.

COow>
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30.

31.

32.

33.

34,

A written claim listing the collateral to secure a loan:

A . market
B. option
C. premium

D. mortgage.

Usinga straight line depreciation schedule, what would the annual depreciation be fora
tractor costing $56,000, estimated to have asalvage value 0f $8,400 at the end of a 10-
year use life?

A. $8,400
B. $5,600
C. $4,760
D.  $2,380.

You have leased forty acres which had a yield of forty bushels of wheat per acre
potential. You leased the land ona crop share basis inwhich you give the landowner 1/3
ofthe crop yield. Ifthe price of wheat is $3.00 per bushel your share of the crop is worth:

A -$1;066---
B.  $1,200
C.  $1,600
D.  $3,200.

The specified price at which the option purchaser may buy or sell the commodity isthe:

A. strike price
B. call price

C. putprice

D. option price.

Commercial fertilizer should be applied to crops as long as the:

added fertilizer increases crop yields per acre

added production increases gross farm income

added fertilizer maintains soil productivity

value of the increased production is greater than the added costs of the fertilizer.

CoOw»
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35.  AnincreaseinthevalueoftheU.S.dollarrelative tothecurrencyofothercountries
should result in:

more costly imports to theU.S.
lesscostly imports to the U.S.
increased exports from the U.S.
no effect onimports or exports.

oo W

A farmer has a $50,000 loan amortized at 9% interest for 15 yean. Use the information to
answer questions 36-38. Note: round answers to the nearest dollar.

36.  Theloan'syearlyannual paymentis$6,203. How muchofthefirst year's paymentis

principal?

A $1,092
B. $1,703
C. $2,592
D.  $4,500.

37.  Ifthe 15™and final payment includes $512 of interest, what was the outstanding principal
balance after the 14" payment?

A $4,500
B. $4,622
C. $4,715
D. $5,691.

38.  How much total interest is paid over the life of the loan?

A $ 7,544
B. $ 43,045
C. $51,852
D. $101,852.

39.  Afarmercanproduce100bushelsofwheatperacrewith1001b.ofcommercial fertilizer.
Asecond 100 Ib. of fertilizer will produce an additional 20 bushels of wheat. Athird
applicationof100 Ib. of fertilizer will increase production by 10 bushels, and afourth
1001b. willadd S bushels of wheat to total production. Ifeach 100 Ib. of fertilizer costs
$15.00,andabushel ofwheatisworth$2.7S, howmanypounds of fertilizer should be
used to maximize netincome?

A. 100
B. 200
C. 300
D. 400.
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40.

41.

42.

43.

44,

A farmer has a debt: equity ratio of2: 1. The current liabilities total $50,000 and the
non-current liabilities total $70,000. What is the value of the assets?

A $240,000
B. $120,000
C. $ 60,000
D. $180,000.

"Financial solvency" refers to the:

farmer’s ability to solve problems

rate at which nitrogen fertilizer dissolves in wet soil

value of total assets relative to the amount of total debt

ability of a farmer to pay current debts with available cash flow.

oo Wy

In July a farmer sells November futures at $7.35 to hedge new crop soybeans. At harvest,
the farmer buys back the contract for $6.85, and sells July futures for $7.15. What is net

- futures selling price for the July contract?

A $6.85
B. $7.05
C. 8735
D.  $7.65.

A farmer has total assets 0f$250,000; total liabilities of$156,000; and net worth of
$94,000. The debt/asset ratio is:

A. .38: 1
B. .60: |
C. .62:1
D. .96: 1

To consider the time value of money in analyzing alternative farm investments, one
should choose the investment with the:

highest net present value

largest net cash flow over the lifetime of the investment
highest average profits over the investment lifetime
lowest cost.

COw>»
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45.

46.

47.

48.

49.

If an acre of land will net $80 growing com, $110 growing soybeans, $90 growing
alfalfa, and $70 growing wheat, the opportunity cost of growing wheat is:

00w

$ 80
$110
$ 90
$ 40.

A farmer has 80 acres of wheat which produced 2,455 bushels and the price of wheat is
$3.95 per bushel. The farmer's operating costs of production were $37.45 per acre and
fixed costs were $19.25 per acre. What is breakeven yield?

A.

B.
C.
D

5.05 bu per acre
9.48 bu per acre
14.35 bu per acre
30.69 bu per acre

Which one of the following would tend to reduce risk for the manager of a farm business?

00>

selecting the crop with the highest net return

- speculating on-the futures market

diversifying into several enterprises
specializing in a single enterprise.

Purchasing a larger piece of machinery to reduce costs is profitable if:

A.

the savings in labor is less than the cost of owning and operating the larger
machine

there is sufficient capital available

the savings in labor is equal to the cost of owning and operating the larger

machine
the value of labor saved is greater than the additional cost of owning and

operating the larger machine.

During the last 12 months, a farm had cash receipts of $15,000 :from the sale of crops, and
cash outlays of$14,000. The farm had a:

Cow>»

net farm income of $1,000
positive cash flow of $1,000
networth increase 0f$1,000
depreciation change ofSI1.000.
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50.

S1.

52.

53.

54,

95.

The major reason for making an estate the beneficiary of alife insurance policy is to:

provide liquid funds for funeral expenses
reduce estate tax liability

provide insurance to protect the heirs
provide liquid funds to satisfy tax liability.

eXel=s

When an increase in the level of production of one enterprise causes a reduction in the
level of production of another enterprise, these two enterprises are said to be:

independent
competitive
supplementary
complementary.

oo

The value of a resource in its next best use is called:

variable cost

foregone interest

opportunity cost

value of the marginal product.

Cow»

Which of the following is considered Schedule F Farm Income?

A cull breeding stock that appear on the depreciation schedule.
B. crop sales

C. sales of farm equipment

D. sale of land.

The higher the price of strawbenies, other things being equal, the quantity demanded:

will increase

will decrease

will not change

cannot be predicted :from information given.

O0w»

The average total cost of producing units of output can be found by:

setting marginal revenue equal to marginal cost

dividing total fixed cost by the amount of output produced
dividing total variable cost by the amount of output produced
dividing total cost by the amount of output produced.

COw>
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56.

57.

58.

59.

60.

What value should you use on cow-calf enterprise budget for the value of homegrown
feeds, such as com or bay?

OOw>»

cash invested in growing crops

actual purchase cost of similar commercial feeds

actual production costs of the homegrownfeeds

net selling price (opportunity cost) of the homegrown feeds.

Afarmerwantstoprojectthereturnsperacre from producing comonhisfarm. The best
method to determine would be touse:

A.
B.
C.
D.

acash flow statement
anenterprise budget
anincome statement

a total budget.

Supplycurvesshowtherelationship betweenthe quantityofaproductsuppliedtothe
market by producers and the:

COow>»

prices of inputs

demand for the product
availability of labor
product price.

Moneythatisduefromabusinessorindividual who purchased productsorservices from
you is calledan:

A.
B.
C.
D.

account receivable
account payable
income

expense.

Of the following, which is the most liquid asset?

CoOw»

land

stored grain
machinery
buildings.
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1999 State Ag EconTest

Answer Sheet
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1998 Okmulgee Ag Econ Test

Answer Sheet
Contest#

26.
27.
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Name

1998 Okmulgee Ag Econ Test

Select the most correct response for each question. Each response is worth 5 points for a total of
300 points.

1.

Tom Farmer earned $20,000 from fanning last year. His total assets are valued at
$380,000. He has outstanding mortgages and loans of $125,000. What rate of return did
he earn on his equity?

A, 526%
B. 7.84%
C. 10.50%
D. 16.0%

A soybean producer decides to store his soybeans in the local elevator for 6 months. The
price at harvest is $6.00 per bushel and the elevator charges 2.5 cents per bushel per month
for storage. He has 5,000 bushels to sell and must borrow $30,000 at 10% annual interest
while he stores the soybeans. What price must he receive for his soybeans to break even
and cover his storage and opportunity costs?

A $6.15
8. $6.30
C $6.45
D $6.75

You are having a good business year and it looks as if taxable income is going to be higher
than last year. Which of the following steps would be the best tax management before the
end of the tax year if you are using cash accounting?

Buy $20,000 of feeder steers.

Postpone buying the $45,000 tractor until next year.
Buy $15,000 worth of fertilizer for the next crop year.
Sell 5,000 bushels of com right now.

oDowp

A farmer who buys feeder pigs could use the options market to reduce his price risk by:

buying a hog Put option.
selling a hog Put option.
buying a hog Call option.
selling a hog Call option.

oCow>»
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5.  The demand for food is usually considered an inelastic demand, This implies for a given
percentage change in price:

A. there is a smaller percentage change in quantity demanded.
B. thereis a larger percentage change in quantity demanded.
C. there is a larger percentage change in quantity supplied.
D. there is a smaller percentage change in quantity supplied.

6. A farmer has total assets of $500,000 which includes land with a market value of
$300,000. The farmer's debt:equity ratio is 1.0. What will the farmer's debt:equity ratio
be if the land was devalued by 30%?

A. 061
B. 0.64
C. 1.56
D. 164

7. A farmer rents a neighboring 100 acres of cropland for $40 per acre to operate with the
existing 400 acres and equipment. The effect on the farmer's costs will be:

to increase fixed costs per acre.
to decrease fixed costs per acre.
to increase variable costs peracre.
to decrease variable costs peracre.

CoOowm>

8. Com has an expected yield of 90 bushels per acre and has a production cost of $140 per
acre. Current market prices are $2.50 per bushel for com and $6.00 per bushel for
soybeans. Soybeans can be raised at a production cost 0f$120 per acre. At what break-
even yield per acre would soybeans generate the same net return per acre as com?

A 25.6 bushels
B. 29.1 bushels
C 34.2 bushels
D 38.7 bushels

0. A farmer is considering purchasing a harvesting machine. Annual machine ownership
costs will be 20% of the purchase price. The annual operating costs will be $9,000 per
year. The machine will increase income by $3,000 per year due to increased harvested
yields though better timeliness and save $10,000 in custom combining costs. What is the
maximum ($'s) the farmer can pay for the combine and increase annual profit?

A $5,999

B.  $49,999
C $19,999
D $10,999
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10.

11.

12.

13.

14.

15.

Inflation means:

a dollar will buy more in the future than it will buy today.

the interest rate will equal the inflation rate.

the farmer's profit margin will increase over time due to higher prices.
the purchasing power of a dollar declines over time.

CoOw>

Which of the following is not a current asset?

A.  Non-breeding livestock
B Machinery

C.  Crop inventory

D Accounts receivable

Which of the following is a disadvantage of the partnership form of doing business?

A. Initial capital is more easily obtained.

B There is access to additional skills.

C.  Operating capital is more easily obtained.

D There is unlimited liability to equity holders.

The objective of determining repayment capacity of a farm or ranch business should be:

to determine the net return of land, labor and management for the business.
to determine how much debt the business can safely handle.

to determine the rate of return to the farmer's equity capital.

to project the net worth of the business for the end of the year.

oo ®p

To maximize profits, a producer should produce at the output level where:

marginal price equals marginal cost.

marginal cost equals marginal revenue.
average variable cost equals average total costs.
marginal revenue equals marginal profit.

CoOw>

What form of business organization offers limited liability to all the owners of a farm
business?

Sole proprietorship
General partnership
Limited partnership
Corporation

Cow»
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16.

17.

18.

19.

20.

21.

What value should you use on a cow-calf enterprise budget for the value of homegrown
feeds, such as com or hay?

Cash invested in growing crops

Actual purchase cost of similar commercial feeds

Actual production costs of the homegrown feeds

Net selling price (opportunity cost) of the homegrown feeds

OO w»

The price where consumers are willing to buy all that the producers are willing to supply to
the market is called the:

opportunity price.
equilibrium price.
market price.
risk-free market price.

oOow>

Which of the following is considered Schedule F Farm Income?

A Cull breeding stock

B. Crop sales

C. Sale of farm equipment
D. Saleofland

An agent entrusted with the execution of a futures contract transaction for a producer is
called:

A. afarmer.
B. arunner.
C. a trader.
D. a broker.

Which of the following items will NM appear in a beginning or ending inventory?

A a mortgage owed

B. money borrowed during the year

C feeder pigs bought and sold during the year
D tractor sold during the year

The best management tool for evaluating the change in profitability due to a change in the
farm plan is:

the balance sheet.
the cash flow statement.
net present value.
the partial budget.

O Ow>
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22. The producer of acommodity which has an glastic demand knows that:

if less is produced by the industry, total industry revenue will increase.
if more is produced by the industry, total industry revenue will increase.
if the price of the commaodity increases, industry revenue will decrease.
price of the commodity has no effect on the total industry revenue.

00 ®>

Use the following information to answer questions 23-27 below:

Present Future Present
Value of Valueof Value of
Year a$l a$l Annuity
I 0.913 1.055 0.913
2 0.834 1.199 1.747
3 0.762 1.313 2.509
4 0.696 1.438 3.204
5 0.635 1.574 3.840
6 0.580 1.681 4.445

23.  Avineyard will produce no income during the first year, $1,000 at the end of each year
for the next 4 years and $2,000 at the end of the sixth year. What is the present value of

this income?

A. $3,987
B. $4,087
C. $5,000
D $6,000

24. A beefcow produces after-tax returns at the end of the year of $90/year for S years and
can be sold for $500 at the end of the fifth year. How much could the producer afford to
pay for the cow?

A. $345
B. $589
C. $663
D. $836
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25.

26.

27.

28.

29.

Using the same values for the beef cow ($90/year income and $500 salvage value) as in
question #24, compute the current value of the cow with a three year life.

A $305
B. $398
C. $413
D. $606

If the farmer expects interest rates to increase, but no increase in net returns, what impact
is_this likely to have on the present value of the beef cow?

decrease the present value

increase the present value

would not change the present value
cannot tell

0O ®»

If the average tax rate is expected to increase over the next three years so that the cow no
longer nets $90/year after taxes, what impact would this have on your answer to questions
25 and 26 above?

increases the value
decreases the value

no change in the value
cannot tell

cowp

payment for real estate taxes for a fann is an example ofa:

A

A. fixed non-cash cost.

8. variable cash cost.

C. variable non-cash cost.
D. fixed cash cost.

It is estimated that a parcel of farmland can typically earn a net return to the land of $60
per acre. Earnings on similar property sold recently have been about 5% of the sale
value. Using this as a capitalization rate, the per acre value of this fann is about:

A. $300

B. $3,000
C. $1,500
D. $1,200
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30.

31.

32.

33.

34.

35.

Signing a contract to sell a product at a set price:

oOwp

reduces the risk of unfavorable price fluctuations.
guarantees a profit for the product.

reduces capital investment.

increases the change of high gross return.

A fanner purchases 500 pound feeder steers for $60 per cwt. and plans to sell the steers at
800 pounds. The fanner estimates the cost of gain to be $0.75 per pound. The nearest
break-even price when the steers are sold at 800 poundsis:

oo ®>

$61/cwt.
$66/cwit.
$71/cwt.
$76/cwit.

A high leveraged business:

OO w>

is less susceptible to business risk.
uses very little borrowed money.
is very susceptible to financial risk.
will not have a cash flow problem.

The total amount of a loan may he increased without increasing annual payments by:

©ow>

raising the interest rate.

increasing the number of years of repayment.
reducing production costs.

buying more land.

The income that could be received by employing a resource in its best alternative use is

comparative advantage.
variable cost.

fixed cost.

opportunity cost.

The spread between local cash price and the price of the near term futures contract is

called:

oowp

margin.

bid.

basis.
commission.
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36.  Anenterprise budgetis.

A. a record of past production perfonnance.

B. the tool used in analyzing a change in the farm operations and the potential
change in net income.

C. a statement of expected costs and returns associated with a specific production
activity.

D. not very useful for decision making.

37.  The main goal of income tax management is to:

minimize before-tax income.
minimize total taxes paid.
maximize after-tax income.
maximize taxable income.

OO w>

38.  Which of the following has NO direct impact on the production costs of a certain
product?

A. production methods
8. amount of input used
C. consumer demand
D. size of the operation

39.  The universal problem of the world, regardless of the political system, is:

A. inefficient government.
8. high land costs.

C. scarcity.

D. consumer greed.

40.  Agribusiness is a term used to include finns suchas:

A. poultry farms.

8. grain farms.

C. cooperative marketing firms.
D. all of theabove.

41. Farmer cooperatives are an integral part of agriculture and:
A are patron-owned.
return savings in the form of patronage dividends.

8.
C. operate at cost.
D. all of theabove.
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42.

43.

44,

45.

46.

47.

The time period which is long enough that the firm is able to vary the quantities of all of
its resources is called the:

short run.

long run.

period of constant returns.
period of decreasing returns.

OO®P

Decreasing opportunity costs means:

other people's opportunities are falling

the production possibilities curve is horizontal

the boundary is shifting between what is and what is not possible

less of one good has to be sacrificed to get greater amounts of another good

oow»

When we say a price in a competitive market is "above equilibrium," we mean that:

quantity supplied is greater than quantity demanded at that price
quantity supplied equals quantity demanded at that price

a shortage exists in the market

the government has instituted a price ceiling

oo ®p

Which of the following groups CaNNOT borrow from the banks for cooperatives (Co8ank)?

A. associations of farmers or ranchers

8. associated harvesters or producers of aquatic products
C. federations of farm associations

D. an individual farmer or rancher

Price support programs establish a:

A. free market price
B. price ceiling
C. price above the free market equilibrium price

D. parity price

An agricultural producer who produced a commodity could hedge that commodity (such
as com) by:

A. buying a call option
8. buying a put option
C. gambling in the futures market
D. speculating in the cash market
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48.

49.

50.

51

52.

Over time, U.S. agriculture has shifted from human to animal to mechanical power
because of:

improved animal, crop, and mechanical technology
higher paying jobs in the nonfarm economy
relatively cheap fuel prices

all of the above

oo w>

The judicial process of administering estates of all descendants is known as a:

A living trust.

B. last will and testament.
C. beneficiary.

D. probate.

A farmer is purchasing a new baler at a cost 0f$26,000. The dealer will finance the baler
under the following terms: 10% down payment with the balance repaid in equal payments
over the next five years at 9% APR. The farmer expects the baler to last for 9 years and
have a salvage value of $1,000. How much interest will the farmer pay the first year of
the loan?

A. $2,106
B. $2,340
C. $2,600
D. $4,680

Accrual accounting:

records income when received and expenditures when paid.
records income when earned and expenses when incurred.
does not require maintaining an inventory of assets.

is not recommended by accountants.

oowp

The book value of a piece of fann equipment would be the:

value of the item currently on the open market.
cost of an item plus the total depreciation to date.
cost of the item minus accumulated depreciation.
sentimental value of the item to the producer.

CoOw>»

10

263



Updated 4/15/2013

53. A lease between a landlord and a tenant is equitable if it:

divides returns equally between the landlord and the tenant.

is written by an attorney.

holds strictly to traditional lease rates in the area.

divides the income between the landlord and the tenant according to the
contribution of each.

COw>»

54, A business is "solvent" if:

total expenditures exceed total receipts.
total assets exceed total liabilities.

total sales exceed total liabilities.

total debt exceeds total equity.

SO w>

55. The U.S. is a major exporter of feed grains and an importer of coffee, bananas, and
pineapple. We could produce all of these commodities in the U.S. but choose to import
them instead because:

international cartels prohibit the U.S. from producing imported crops.

each nation produces and exports goods for which it has a comparative advantage.
U.S. farmers do not know how to grow these crops.

the U.S. allows other nations to benefit from certain crops as part of our overall
aid.

Cow>

56. Which of the following is a fixed expense?

depreciation

cost of computer paper
interest on a short term loan
fuel for tractors

DO

57. What type of insurance protects the farmer from lawsuits if he/she is responsible for
personal injury or property damage to another person?

A. life insurance

B. property insurance
C
D

accident insurance
liability insurance

11
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58. A constant payment loan with payments consisting of principal and interest is called:

an amortized loan.
a discounted loan.
a capital loan.

a fixed rate loan.

COw>

59. Which of the following types of lease arrangements is least risky for the landlord?

Crop share lease
Livestock share lease
Flexible rent lease
Cash lease

CoOow>»

60. The usefulness of the current ratio is that it:

is a measure of the ability to meet immediate debts.

helps avoid excessive inventories.

helps estimate the ability of the finn to pay its debts from presently owned assets.
helps estimate the ability of the finn to meet interest costs and repayment
schedules on land and machinery.

CoOow>»

12
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1998 Okmulgee Ag Econ Test
Answer Sheet

Name_Key Contest# School
1. B 26. A 51.
2. C 27. B 52.
3. C 28. P 53.
4. A 29. D 54,
5. A 30. A 55.
6. C 3. B 56.
7. B 32. C 57.
8. C 33. B 58.
90 C 3. D 59.

10. D 35. C 60.

1. B 36. C

12. D 37. C

13. B 38. C

14.- B 39. C

15. D 40. D

16. D 41. D

17. B 42. B

18. B 43. D

19. P 44. A

2. C 45. D

21. D 46. C

22. B 47. B

23. B 4. D

24. C 49. P

25. D 50. A

>0 D> 0> wiwo oo
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Name

W N

n

| N o

10..

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

1997 Ag Econ Test

Answer Sheet
Contest#

26.
27.
28.
29.
30.
31.
32.
33.

3a.
36.

37.
38.
39.
40.
41.
42.
43.
44,
45.
46.
47.
48.
49.
50.

School

51.
52.
53.
54,
55.
56.
57.

58,
60,
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Name

1997 Ag Econ Test

Select the most correct response for each question. Each response isworth S points for atotal of
300 points.

A farmer has $150,000 of principal remaining on amortgage at the end of this fiscal year.
TheaMual principal payment is$15,000. Accrued interest at the end of the year amounts
to $8,500. The year-end balance sheet will show:

non-current liabilities 0f$158,S0O0.

current liabilities of $158,500.

non-current liabilities of $150,000 and current liabilities of$8,500.

non-current liabilities of $135.000 and current liabilities of $23,500.

COwW>

Dry land wheat presently yields 60 bushels per acre and the price is$3.00/bu. The price of
canolais$.11 per pound. The cost of production is$160 per acre for wheat and $1SO per
acre for canola. What yield would be needed from canola to give the same net returns as
wheat?

A. 1,255 pounds

8. 1,545 pounds

C. 1,600 pounds

D. 1,635 pounds

A feedlot operator buys feeder steers, finishes them. and sells them. The operator
estimates that finished steers will sell for $80 per cwt and that it will cost $250 per head to
grow them fromthe 700 pound purchase weight to the 1100 pound selling weight. What
is the highest price the operator can pay for 700 pound feeder steers to break even?

A.  $96.00/cwt

B. $90.00/cwt
C. $80.00/cwt
D. $62.50/cwt

The judicial process of administering estates of all descendants is known as:
A. living trust.
B. last will and testament.
C. Deneficiary.
D. probate.

The financial progress being made ina farm business from one year to the next year is best
shown by:

A. achange in total assets.

8. achange in net worth statement.

C. achange in liabilities.

D. acash basis income tax statement.
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10.

11.

A marketing function which tends to regulate the supply ofa product and provide astable
market is:
A. assembling.

8.  grading.
C. processing.
D. storing.

The type of life insurance which provides protection for a limited time and isusually
cheaper per dollar of protection iscalled:

A. whole life.
8. term.

C. endowment.
D. new life.

The process of finding the present value ofa dollar to be received inthe future is known
as:

compounding.

discounting.

amortization.

depreciation.

o0 ®p

Afeedlot operator purchases 100 feeders with an average weight of 750 pounds and sells
them at an average of 1,050 pounds. Total feed costs is$18,000. Feed cost per pound of

gain is?
A. $0.514
8. $0.600
C. $0.720
D. $0.810

A farmer is purchasing a new baler at acost 0of $26,000. The dealer will finance the baler
under the following terms: 10% down payment with the balance repaid inequal payments
over the next five years at 9% APR. The farmer expects the baler to last for 9 years and
have a salvage value of$1,000. How much interest will the farmer pay the first year of
the loan?

A.  $2,106
B. $2,340
C. $2,600
D. $4,680

Whenthesize ofthesoybean harvest exceedslocally available farmand elevator storage,
what happens to the basis?

A. basis narrows

B. Dbasis widens

C. Dasis goes out of existence

D. Dbasis is usually the same all year long
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12.  Youareconsidering the purchase ofacombine, rather than continuing to hire a custom
operator at $22.00 per acre. Ifyou purchase the machine, the annual fixed costs (interest,
depreciation, etc.) will be $t5,000. The variable cost is $10 per acre including the extra
labor. There would be no other changes in costs and returns associated with ownership
and savings other than the custom charges. How many acres must be harvested each year
to justify (on a break even basis) purchasing the combine?

A. 500

B. 8333
C. 1,000
D. 1,250

13.  Atthe beginning of the year a farmer had a loan for $150,000. The interest charged on
this debt is 10% APR. If the farmer makes a loan payment at the end of the year of
$32,000, what would be the loan balance at the start of the new year?

A. $118,000
B. $133,000
C. $135,000
D. $142,000

14. Marginal revenue and marginal cost are useful in determining the profit maximizingoutput
level. Profit will be at its maximum level when marginal revenue:

is at its maximum level and marginal cost is equal to zero.

Is equal to zero and marginal cost is at its maximum.

equals marginal cost and total returns are greater than total costs.

is at its minimum and marginal cost is at its maximum.

oCoOwp

15. Net farm income for a farm is $50,000. The charge for unpaid labor and management is
$30,000. What is the farm's return to the owner's equity?

A.  $20,000
B. (-$20,000)
C. %0

D. (-$30,000)

16.  Which of the following is affected by the type of business organization a farmer chooses?

A. amount of machinery owned
B. production (crops and livestock) yields
C. thevalueofthecropsheld ininventory
D. transferability of ownership
17.  Ifbacon and eggs are complementary in demand, an increase in the price of eggs is

expected to cause:

a decrease in the demand for bacon
an increase in the demand for bacon
C. no change in the demand for bacon
D. adecrease in the supply of eggs

® >
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18. What value should you use in a cow-calf enterprise budget for the value of homegrown
feeds, such as corn or hay?

cash invested in growing crops

actual purchase cost of similar commercial feeds

actual production costs of the homegrown feeds

net selling price (opportunity cost) of the homegrown feeds

COw>»

19. An advantage of making an estate the beneficiary of a life insurance policy is to:
A. reduce estate tax liabilities.
B. decrease the size of the estate.
C. provide insurance protection to heirs.
D. provide cash to satisfy any tax liability.

20. The total harvesting costs associated with a field of melons are $250 per acre. Total
production costs incurred before harvest have been $300 per acre. Expected yield is 75
cwt (hundred weight) per acre. What is the minimum market price per cwt for melons
necessary for the farmer to justify harvesting the crop?

A.  $3.00 per cwt.
B. $3.33 per cwit.
C.  $4.00 per cwt.
D. $7.33 per cwt.

21. You have borrowed $150,000 at a simple interest rate 0f?% per annum for 10 years.
Principal is to be repaid in 10 equal installments at the end of each year, with annual
interest payable with the principal payment. The total principal and interest payment due
at the end of the third year would be:

A.  $25,500
B. $23,400
C. $21,357
D. $24,600

22. A farmer who wants to have the right, but not the obligation, to sell a particular
commodity at a specified price level would use a:
A. cash-forward contract.
B.  basis contract.
C. call option.
D. putoption

23. If you are considering a change in the farm business that will affect only a few items in
your total farm budget, this change would appropriately be evaluated usinga:
A. total farm budget
B. cash flow budget
C.  depreciation schedule
D partial budget
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24.  Accrual accounting:
A. records income when received and expenditures when paid.
B. records income when earned and expense when incurred.
C. does not require maintaining an inventory of assets.
D. is not recommended byaccountants.

25.  The present value of $100 that will be received at the end of | year, given a 5% interest
(discount) rate is:

A. $100.00
B. $95.24
C. $105.00
D. $90.70
26.  Ifafarmer writes a check for $8,000 to pay off the remainder of a tractor loan:

A. assets are reduced and equity declines.

B. liabilities are reduced and equity increases.

C. assets and liabilities are reduced and equity is unaffected.
D. assets, liabilities and equity each decline.

27. A demand curve shows the relationship between:
A. output prices and quantity demanded by consumers.
B. output prices and quantity supplied by producers.
C. variable input used and output produced;
D. quantity demanded and consumer tastes.

28. A farmer had a net farm income last year of $40,000. The farmer paid $10,000 for
interest on borrowed capital during the year. Opportunity costs for unpaid family labor
and management were $30,000. Equity inthe business was $200,000. What was the
percent return on equity?

A )0%
B. 20%
C. 5%

D. 15%

29.  Afarmer borrowed $12,000 on March 1 to buy fertilizer for a sugarbeet crop. The farmer
paid back the entire loan and 9% annual interest on December 1. What was the total
amount of the principal and interest owed on December 1?

A.  $13,080
B. $12,810
C. $12,090
D. $12,720
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30. The book value of a piece of fann equipment would be the:
A. value of the item currently on the open market.
B. cost of an item plus the total depreciation to date.
C.  cost of the item minus accumulated depreciation.
D. sentimental value of the item to the producer.

31. A farmer plants com this year on 98 acres. All specified costs are $196 per acre to grow
the com. If com sells for $3.50 per bushel, how many bushels need to be produced to
break even?

A. 56 bu./acre
B. 85 bu./acre
C. 98 bu./acre
D. 110 bu./acre

32. A farmer has total assets 0f$500,000 which includes a market value of $300,000 on land.
The farmer's debt to equity ratio is 1.0:1. The lender values the land at book value which
is 10% less than market value. What is the farmer's debt to equity ratio at book value?

A. 0.88:1
B. 1.12:
C. 1.14l
D. 1271

33. The specified price at which the option purchaser may buy or sell the commodity is the:
A.  strike price.
B. call price.
C.  put price.
D. option price.

34. Solvency has been achieved when a farmer has:
A. sufficient current assets to cover current debts.
B.  sufficient equity to cover current debts.
C. sufficient assets to cover all debts.
D. apositive cash flow.

35. Net worth is a measure of:
A.  managerial ability
B.  financial position
C.  profitability
D. liquidity

36. An increase in the demand for beef with no charge in beef production will:
A. decrease the price for beef and increase demand for feed.
B.  decrease the prices for pork and poultry.
C. increase the price of beef.
D. reduce beef prices and increase pork prices.
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37.

38.

39.

40.

41.

42,

43.

A statement showing receipts, expenses and net returns on a farm for a year is called

a(an):
A. networth statement.
B. cash flow statement.
C. enterprise budget.
D. income statement.

A lease between a landlord and a tenant is equitable if it:
divides returns equally between the landlord and the tenant.
Is written by an attorney.
holds strictly to traditional lease rates in the area.
divides the income between the landlord and the tenant according to the
contribution of each.

OOw>»

One of the best measures of financial progress over a period of years is:
A. change in net worth.
B. capital investments.
C. income tax paid.
D. netcashincome.

The type of business that would distribute patronage refunds is a(an):
A. individual proprietorship.
B.  partnership.
C. corporation.
D. cooperative.

Which of the following is considered to be a fixed cost?
A. hired seasonal labor.
B. depreciation on machinery.
C. machinery repairs.
D. feed purchases.

The price at which consumers are willing to buy all that the producers are willing to

supply to the market is called the:
opportunity price.
equilibrium price.
support price.

risk-free market price.

oo

Afarmer sold culled breeding stock in 1995 for $72,530 with a basis of $36,974. How

much of the gain is subject to taxes on the farmer's 1995 tax return.

A. Breeding stock is a capital item and sales of capital items are not taxed.

B. $72,530 is subject to income tax.
C. $36,974 is subject to self-employment taxes.
D. $35,556 is subject to income tax only.
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Use the following information from Cowboy Bob's balance sheet to answer questions 44 to 60.

Current Assets Current Liabilities
Cash on hand $9,000 Interest due this year $11,000
Stocker cattle $50,000 Loan on stocker cattle $40,000
Grain in storage $15,000 Operating Loan $25,000
Long Term Assets Long Term Liabilities
Land/Buildings $225,000 Land Mortgage $125,000
Machinery $60,000
Owner Equity
44, Bob has total assets of

4S.

46.

47.

A. $74,000
B. $76,000
C. $201,000
D. $359,000

Bob has total liabilities of:

A. $76,000

8. $158,000
C. $201,000
D. $359,000

Bob has a current ratio of:

A. 097
B. 1.00
C. 103
D. 127

Bob's net worth (owner equity) is:

A. $74,000

B. $158,000
C. $201,000
D. $359,000
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48. Bob's debt: equity ratio is:

A.  0.79
8. 0.97
C. 1.27
D. 179
49, Bob's debt:asset ratio is:
A. 056
8. 0.79
C. 127
D. 1.79

50. At the present time, Bob's financial situation can be best described as:
A. liquid and solvent.
8.  liquid but not solvent.
C. solvent but not liquid.
D. neither liquid nor solvent.

Bob wants to do less crop fanning and more cattle production. He intends to sell his grain in
storage and $40,000 of machinery and use the money to pay off his operating loan and buy
$30,000 of breeding animals. Answer true (T) or false (F) for each of the following statements
about the impacts these actions would have on Bob's balance sheet.

51. Current assets would increase.

52. Current liabilities would decrease.

53. Long tenn assets would decrease.

54, Long tenn liabilities would decrease.

55. Total assets would increase.

56. Total liabilities would decrease.

57. Net worth (owner equity) would increase.
58. Bob's debt:asset ratio would increase

59. Bob's debt:equity ratio would increase.

60. Bob's current ratio would increase.
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1997 Ag EconTest
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1996 Ag Econ Contest -- Part 2

Select themost correctanswer for each question. Question 1-41, 44,and45areworth S pointseach. Each partof
Questions 42, 43, and 46 isworth 3 points.

I Afanner isabletoproduce 70 bushels of oats per acre with the application 100# commercial fertilizer per
acre. Byvaryingonlyonefactor ofproduction. inthiscasetheamountoffertilizer applied, hecanreceivea
yield increase of 12 bushels per acre with thenext 100#ofcommercial fertilizer. Thenext 100#increase in
fertilizer would resultin an additional yield of 2 bushels per acre. Ifoatssell for SI.20 per bushel end the
fertilizer costs $8.00 per hundred. how much fertilizer should beapplied tomaximize hisnetincome?

A. 100#
$00d. 200#
C. 300#
D. 400#

2. Which one of the following would tend toreduce risk for the manager ofa fann business?

A. Selecting the crop with the highest net return.
B. Speculating onthefutures market.

*0¢C. Diversifying intoseveral enterprises.
D. Specializing in a single enterprise.

3. Ifenacreoflendwillnet$80growingcom, $110growingsoybeans, $90growingalfalfa.and$70growing
wheat, the opportunity cost of growing wheat is:

A. $80
8. $110
C. $90
D. $40

4. The increase in wheat yield becomes smaller for each additional 10 pounds of nitrogen fertilizer applied after
30 pounds per acre have been applied. This is an example of:

A. Increasing marginal returns.
B. Unprofitable useoffertilizer.

#¢¢C. Diminishingmarginal returns.
D. Elasticity.

-S. On April t, Karen borrowed $8,000to plantcom. On November 1, sherepaid the $8,000 along with $495
interest. What annual interest rate did she pay?

A.6.187%

B. 9.281%
see C. 10.607%

D. 12.375%
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8.

A fanncr is considering purchasing a harvesting machine. Annual machine ownership costs will be 20% of the
purchase price. Theannual operating costs will be$9,000 per year. Themachinewill increase income by
$3,000 per year duetoincreased harvested yields through better timeliness and save $10,000 in custom
combiningcosts. Whatisthemaximum (S's)thefanncrcan payforthecombineandincreaseannual profit?

A. $5,999

B. $49,999
C. $19,999
D. $10,999

The cost of using aresource based on what it could have earned in the next best alternative is:

s« A. An opportunity cost.
B. Always a variablecost.
C. Always a fixed cost.
D. Never a consideration in enterpriseanalysis.

The average total cost of producing units of output can be found by:

A. Setting marginal revenue equal to marginal cost.

B. Dividing total fixed cost by the amount of output produced.

C. Dividing total variable cost by the amount of output produced.
ee« (. Dividing total cost by the amount of output produced.

Afarmerwantstoevaluate ifheshould rentadditional hayacreagetoreplace purchase
hayforhisdairyherd. Which ofthefollowing itemswould notbeconsidered inapartial
budget?

A. Rent paid and hay production costs.
B. Current hay purchase price.
¢+« C. Current milk production and price.
D. Machinery and labor availability and requirements.

Afanner wantsto project thereturns peracre from producing comon hisfann. The best
method to detennine would be to use:

A. A cash flow statement.

ees 8 . An enterprise budget.
C. Anincomestatement.
D. A total budget.

The supply curve shows the rel tionship between:

A. Physical inputs of resources and the resulting units of output.
8. Total business receipts and quantity supplied.
C. Production costs and the amount demanded.

eee D. Price and the quantity supplied.

. The demand curve shows the relationship between:

A. Consumer tastes and the quantity demanded.
e« « B. Price and the quantity demanded.

C. Price and production costs.

D. Money income and quantitydemanded.
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16.

17.

18.

19.

The higher the price of strawberries, other things being equal, the quantity consumed:

A. Will increase.

**%8. Will decrease.
C. Will notchange.
D. Cannot be predicted from infonnation given.

Ifthegovernmentweretosetthe priceof milkatanartificially high price, whatislikelyto
occur?

see A, A surplus.

8. A monopoly.
C. Ashortage.
D. Aslump.

Afarmer planson buying 20 tonsof soybean meal in May of next year. The meal will be
fed to the dauy herd throughout the year. It is now August and the farmer expects the
price of soybean meal to increase significantly by next May. What should the fanner do to
provide protection from the increasing price of soybean meal?

A. Buy August soybean meal futures contracts.
8. Sell Maysoybean meal futures contracts today, expecting to buy them back in August.
C. Sell Augustsoybean meal futurescontractstoday, expectingtobuythembackin

April.

- 0 D. Buy Maysoybean meal futures contracts today, expecting tosell them in-May.

In developing an enterprise budget the farmer's own labor should be:

A. Included in the income section.

e« B. Included in the expense section.
C. Subtracted from the gross profit.
D. Excluded in the budget.

One of the best measures of financial progress over a period of years would be:

A. Income taxpaid.

B. Capital investment.

C. Net cash income.
e« D. Change in net worth.

A highly leveraged business:

A. Isless SU.'iceptible to business risks.
8. Can borrow money easier.

e« C. Is more susceptible to business risks.
D. Uses very little borrowed money.

One advantage of a fann business structured as a corporation is:
A. Limited capital required toform a profitable business.
8. Simplification and ease of management.

C. Exempt from Federal income tax.
e« D. Avoidance of personal liability.

280



Updated 4/15/2013

20.

21.

22.

23.

24,

Which of the following is the best measure for comparing the profitability of two fanns?

A. Debt:asset ratio.

«++ 8. Rateofreturn toequity capital.

C. Gross fann income.
D. Gross fann income minus capitalgains.

Uptoharvest timeafarmer hasspent$27 per acrefor fertilizer. fuel. seed, and hired labor
on hisbarley. Because of hail damage, henow expects ayield of8 bushelsperacre. The
farmer had not taken out hail insurance. If the expected price of barley is $2.50 per
bushel, what is his best alternative?

A. Assume the $27 per acre Joss for the barley and plow up the barley.
B. Harvest the barley assuming a $t4 per acre harvesting cost.

C. Sell the standing barley as pasture for $4 per acre.

D. Sell thestanding barley as hay.for $5 per acre.

If consumers buy more beef because beef prices have decreased, and nothing else affects
the market, therehas been:

A. Ailincrease in demand for beef.
B. A decrease in demand for beef.
C. No change in demand for beef.

D. A decrease in the supply of beef.

FrankPerdueraises2.000.000broilersannually. Inaddition, Frank Perdueownsthefeed
mill, which provides feed for the birds, ownsthe processing facility. and marketsthe
dressed birds to retail grocery stores. Thistype of business structure isknown as:

A. Horizontal integration.
B. Marketing cooperative.
C. Vertical integration.
D. Supply cooperative.

Afarmer purchasesatractor for $35,000whichhasan expected lifeof J2yearsand an
expected salvage valueoUJ,500. Thetractor isfinanced by thedealer atan annual
interestrateof 12 percent. Whatistheannual depreciation cost ofthetractor usingthe
straight line method.

A. $4,200
B. $3,500
C. $2,917

eee D. $2,625
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Questions 25 to 30 use the following information.

25.

26.

27.

28.

29.

The balance sheet for Happy Acres Farm includes the following infonnation:
-$25,000

Feeder cattle ready for sale

A unts Payable

Cash on hand

Grain in storage

Loan payments due this year
Land Mortgage (not due this year)

Machinery
Land
What are the total cum:nt assets for Happy Acres Farm?
A. $2,000
B. $25,000
eee C. $45,000
D. $46,000
Whatarethetotal current liabilities for Happy AcresFann?
A. $3,500
eee B. $35,500
C. $45,000
D. $127,000
What are the total assets for Happy Acres Fann?

A. $127,000
8. $320,000

C. $366,000
«e« D. $411,000

What are the total liabilities for Happy Acres Farm?

A. $35,500
8. $127,000

**MC. $162,500
D. $411,000

Supposeallthefeeder cattleon Happy AcresFarm unexpectedlydie. Which ofthe

following statements is true?

A. There will be sufficient remaining current assets to pay current liabilities.
««« B. There will not be sufficient remaining cUJTent assets to pay current liabilities.

C. Death of the cattle would have no effect on current assets.
D. Net worth would increase.

$3,500
$2,000
$18,000
$32,000
$127,000
$46,000
$320,000
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30 Suppose that Happy Acres Fann purchases $1S,000 of breeding livestock using their cash on

hand and financing the remaining $13,000 on a three year note. Which of the following
statements is Inle?

A. Current assets would decrease.
B. Total liabilitieswould increase.
C. Net worth would not change.

e« D. A, B, and C, are all true.

Questions 31 to 34 use the foilowing crop yield information

31.

32.

33.

34.

35.

e C. Assets which can be converted to cash through nonnal operations in the business year.

Ilinois Oklahoma
Bushels per acre
Com 7S 1
Wheat SO 30

What isthemaximum combined amount of comthat can be produced with 2 Illinois
acres and 2 Oklahomaacres?

A. 210 bushels
B. 280bushels
C. 350bushels
D. 560 bushels

Whatisthemaximum combined amount ofwheat thatcan beproduced on 2lllinoisacres
and 2 Oklahoma acres?

A. 60bushels
B. 80 bushels
C. 100 bushels
D. 160bushels

Ifatleast 2acresofwheat mustbe produced, which croppingallocation wilt producethe
maximum combined amount of wheat and com?

A. 2 acres of Illinois com and 2 acres of Oklahoma wheat.

8 . 2 acres of Oklahoma corn and 2 acres of Illinois wheat.
C. I acre of com and wheat in both Illinois and Oklahoma

0. 2 acres of wheal in both Illinois and Oklahoma

Given this yield information, which of the following statements is true about crop
production in Illinois and Oklahoma?

A lllinois has a competitive advantage in both corn and wheat production.
B. Oklahoma hasa competitive advantage in wheat production.

C. Oklahoma has a competitive advantage in both com and wheat production.
D. Neither wheat nor com should be grown in Oklahoma

Current Assets are:

A. Assets you currently own.
B. Assetsfmenced by loans which are being repaid on schedule.

D. Assets with a market value in excess of book value.
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36. Which asset on the balance sheet has the most liquidity?

A. Inventory

8. Accowits payable
e+ C. Ca.<ih

D. Accowtts receivable

ar. Return to management is net cash farm income:

A. Minus debt payments.

8.  Minus the value of unpaid labor, depreciation, interest on equity capital, and net
inventory changes.

C. Minus the value of operator's labor and interest on debt payments.

D. Minusthe interest onequity capital, depreciation, and adjustments for inventory
changes.

38. Which of the following isa disadvantage of the partn hip form of doing business?

A. Initial capital ismore easily obtained.

B. There isaccess to additional skills.

C. Operating capital is more easily obtained.
see D. There is unlimited liability to equity holders.

39. Which of the following isconsidered Schedule F Farm Income?

A. Cull breeding stock.
+«» B. Crop sales.

C. Sale of fannequipment.

D. Saleofland.

40. What value should you use on a cow-calf enteiprise budget for the value of homegrown
feeds, such as com or hay?

A. Cash invested in growing crops.
B. Actual purchase cost of similar commercial feeds.
C. Actual production costs of the homegrown feeds.
-« D. Net selling price (opportunity cost) of the homegrown feeds.

41. Inflation means:
A. Adollar will buy more in the future than it will buy today.
B. The prices at which the interest rate will equal the inflation rate.

C. Thefanner's profit margin will increase over time due to higher prices.
es¢ D. The purchasing power of a dollar declines over time.
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Each answer inthis section is worth 3 points for a total of 39 points.

Tom Tillage isconsidering switching from wheat to barley production thisyear. The following are his estimates of

costs and revenues for eachcrop.

Tillage
Seeding
Fertilizer
Spray
Harvest

Revenue ($/acre)
Grain Sales

Wheat

11
8
30
9
1S

110

Cost ($/acre)

Barley

14
6
32
I
17

12S

Tomwantstouse partial budgetingtodecide whether toswitch fromwheattobarleyproduction. For each ofthewheat
andbarley budgetitemsindicate whether theyshould beentered inthe partial budget esanadded cost (AC), areduced
revenue (RR), areduced cost (RC), or an added revenue (AR). Circle the appropriate response.

o &~ W Do

13

= o

Whbeatbudact
Costs
Tillage
Seeding
Fertilizer
Spray
Harvest
Revenue
Wheat Sales

Barley budget
Costs

Tillage

Seeding

Fertilizer

Spray

Harvest
Revenue

Berley Sales

The partial budget confinns that Tomshould:

A. grow wheat
**% g grow barley.

Circle onein each row

AC
AC
AC
AC
AC

AC

AC
AC

AC

AC

RR
RR
RR
RR
RR

BR

RR
RR
RR
RR
RR

RR

AR
AR
AR
AR
RC AR
RC AR
RC AR
RC AR
RC AR
RC AR
RC AR
RC A&
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Questions 43 to 4S use the following infonnation fi:om Fred Fanner's balance sheet.

Current Assets $3S,000
Non-Current Assets $487,000
CWTCnt Liabilities $52,000

Non-Current Liabilities $342,000

43. Match the following items with the most conect response (3 points each).

_O_ 1. Total Assets A $487,000

_F 2. Net Worth B. 0.75S:1

_H_ 3. CurrentRatio C.$342,000

_E_ 4. TotalLiabilities D. 1.486:1

_B_ S.Dcbt:Assct Ratio E. $394,000
J_ 6. Net Fann Income equal to

an8PercentReturnon Assets  F. $128,000

0. $522,000
H. 0.673:1
J. $41,760
44, Fred's financial condition is best described as:
A. Liquid and solvent
B. Not liquid and notsolvent
C. Liquid but not solvent.
e+ D. Not liquid but solvent.
45, If Fred sells $20,000 of machinery and putsthe cash inhis ch kingaccount, theresult

would be:

A. An.increase in liquidity and owner equity.

s« B. An increase in liquidity and no change in owner equity.
C. Anincrease in liquidity but a decrease in owner equity.
D. Anincrease in liquidity but a decrease in solvency.
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P

Q"Q ¢

46. Use the graph above to match the following to the best response (3 points each).

Q

E IP A. Change in quantitysupplied

"G 2.DorD! B. Shortage caused by price ceiling atP..
"D _3.QtoQ"onD C.Equilibriwn quantity

"H 4.0to0' 0. Change in quantity demanded
_C 5. E. Equilibrimn price

“B_6.Q" Q™ F.Supply curve

“E 7.8 G. Demand cw-ve
“A_8.Q"toQ'onS H. Change in demand
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Evaluating Financial
Performance and Position

EXTENSION FACTS

Oklahoma CooperaUve Extension Service ¢ Divisionof Agricultural Sciencesand NaturalResources

Harry P. Mapp
Regents Professor
Jean and Patsy Neustadt Chair, Agricultural Economics

easures of financial performance reduce a large

amount of Information into a convenient form for

analysis. No single measure of linancial perfor-

manceis adequate for evaluating afarmbusiness.
Evaluation of several financial measures may be more useful in
directing the manager toask theright questions thaninproviding
solutions to the financial problems of the business. Both the
magnitude of the measure andltsrelationship toother measures
should be evaluated.

Decisionsmade in developing the balance sheet, cash flow
statement, andincome statementhaveimportantimpacts onthe
financial measures discussedin thisOSU Fact Sheet. Some of
those decisionsincludeusingcostormarketvaluesInpreparing
the balance sheet; determining a specific value for each asset
andliability onthebalance sheet;including orexcludingaccrued
expenses, deferred taxes, and personal assets and liabilities
fromthebalance sheet; estimatingnetincome onacash,accrual,

or accrual adjusted basis; and deciding if Income should be

before or after taxes. Each of these decisions affects key
relationskpsin the financial statements andimpacts the financial
measures usedtoevaluate financial performance and position.

Theoverallperformance andpositionofthebusinessshould
be evaluated based on a set of criteria which includes liquidity,
solvency, profitability, financial efficiency, and repayment capac-
ity. Each ofthese criteriameasures adifferent aspect of financial
performance and/or position.

Liquidity indicates theabilityofthebusiness tomeatfinancial
obligations when they come due. Timely payment of the obliga-
tions of the business, Including principal and interest on debt
without disrupting the normal operation. is an indication the
business isliquid.

Solvency measures lha ability of the firm to pay all debts if
theassets ofthebusiness aresold. Generally, if themarketvalue
of total assets exceeds existing debt obligations against those
assets, the business is solvent.

Profitability is anindication of thelevel ofincome produced
by the farm business and is measured in terms of rates of return
producedbythelabor,management, andcapitalofthebusiness.

Financial efficiency measures the degree of efficiency with
which labor, management, and capital are used in the business.

Efficiencyindicatestherelationshipbetween inputsandoutputs
and can be measured in physical or financial terms.

Repayment capacity measures the ability of the business to
repay existing debt commitments from farm and non-farm in-
come, and is closely related to the concept of liquidity.

F-790

Ross 0. Love
Extension Economist

Each of these criteria plays animportant role inthe analysis
offinancial performance andposition of abusiness, andeachhas
alternative measures which are discussed in this OSU Fact
Sheet.

Measuring Liquidity

Liquidity is the ability to generate cash lo meet cash de-
mands as they occur during the year, andto provide forunantici-
pated events. Cash is needed to pay for the usual expenses of
the business, including operating expenses, capital items. and
scheduled debt payments, andprovide forpersonal transactions,
such as family living expenses. Unanticipated events, such as
adverse weather or price conditions, which produce economic
losses, or newinvestment opportunities. may make it difficult to
meet cash demands.

Current Ratio

Thetwobalance sheet measures most often used to evalu-
ateliquidity arethe currentratio and working capital. The current
ratioisusedtoevaluateliquidity throughtherelationship between
current farm assets and current farm liabilities. However, the
currentratiois arelative measure rather than an absolute dollar
measure Itis calculated as follows:

Total current farm assets + Total current farm liabilities

Current farmassets normally include cash, marketable securi-
ties, accounts receivable,andinventories. Currentfarm liabilities
include accounts and short-term notes payable, interest and
principal payments onlong-term debt.accruedincome taxes, and
other accrued expenses. TheratioIndicates the extenttowhich
current farm assets, if liquidated, would cover current farm
liabilities. If theratio is greater than 1.0, Iha farmis considered
liquid. The higher the ratio, the greater the liquidity. Ifless than
1.0, the farmis considered notliquid, indicating soma degree of
cash flow risk. A more careful evaluation of the cash flow
statement would be appropriate, given this indication of a pos-
sible liquidity problem.

Based on data from the London's market-based balance
sheet which includes deferred taxes, the current ratio as of
February 1 is:

161,777 + 162,431 = 0.996 = 1.0

288



Updated 4/15/2013

Oklahoma State University

289



Updated 4/15/2013

Including deferred taxes is a conservative approach to
calculating the current ratio; however, it recognizes that if all
current farm assets are sold during the next year, the deferred
taxes would be owed. ltis better for the producer and lender to
be aware of the contingent llabllity and to determine its potential
Impact, than to ignore the tax implications of selling assets.
Generally, lenders and analysts like to see a currentratio of 1.5
t02.0, whenusingthemarket value approach, exdudingdeferred
taxes. Thus, whiletheLondon operationlsliquld, thecurrentratio
of 1.0lIs alitUe lower than desired by lenders In an evalualion of
short-term or operating credit needs. If deferred taxes were
excluded in calculating the London's current farm liabilities, the
currentratio would be 1.2. The current ratio may register higher
and lower, at different times during the year, for good reason.

Thepreferred currentratio varies by type of business. If the
objective of the business Is to maximize profitability, a high
currentratio might Indicate the business Is sacrificing Income by
emphasizing low-yielding current assets, such as cash or a
savings account.

Working capital is calculated by subtracting total current
llabililles from current farm assets, and Is expressed as an
absolute dollar amount. ItIs the amount of cash left to purchase
Inputs andinventory itemsif the business sold all current assets
andpaid all currentliabilities. Generally, working capital should
be positive, but the amount needed depends upon the type and
size of business. Seasonal borrowing and repayment of credit
lines or operating notes will cause the measure to fluctuate in
value during the year. Because current farm liabilities include
llablllitles due wilhin the coming year, and some farms have
relatively few current assets, operations generally can be main-
tained even with negative working capital. Nevertheless, nega-
tive working capital indicates a potential liquidity problem which
should be subject to further evaluation.

Balance sheet measures of liquidity, such as working capital
andcurrentratio, cannot totally evaluate the ability of abusiness
lo meetcash commitments. Toovercome the !Imitations associ-
ated with a liquidity measurement at apointin time, these ratios
should beusedwithrepayment capacity measures and the cash
flow statement. This allows a more complete analysis of the
liquidity position of thebusiness.

Measuring Solvency

Solvency relates primarily to the firm's ability to meetlong-
term commitments as they come due. Ifthe value of total farm
assets exceeds totalfarmliabilities, the farmIssaidtobesolvent;
if the sale of all assets would not generate sufficient cash to pay
offallliabilities, the farmis insolvent. The difference between the
value of total assets and total liabilities, generally referred to as
net worth or owner's equity, is the most often used measure of
solvency. Themostrealistic approachtocalculatingowner equity
is to use the market-based approach to value assets. including
consideration of deferred taxes. Three ratios are used to mea-
sure financial solvency: the equity-to-asset ratio, the debt-to-
asset ratio, and the debt-to-equity or leverage ratio.

Equity-to-Asset Ratio
The equity-to-asset ratio indicates the proportion of total
farm assets owned or financed by the owner's equity capital. Itis

calculated by dividing total farm equity by total farm assets, as
follows:

Total farm equity+ Total farm assets=

- Total farm liabiliti

Total rarm assets

Total farm

790/2

The higher the equity-to-asset ratio, the more capital sup-
plied by the farm owner and the less supplied by the creditors.
There is no exact standard for the equity-to-asset ratio which
would apply to every farm business. However, as the percent
equity increases above 50, the owner is supplying a greater
percent of the total capitalinthe business than thecreditors. With
data from the London's balance sheet, estimated using the
market-value approach andIncluding deferredtaxes, the equity-
to-asset ratio as of February 1is:

($1,059,182 - $373,552) + $1,059,182 =
$685,630 + $1,059.182 = 0.65

With anequity-to-assetratio substantially above 50percent,
theLondon's areinastrongequity position. Also, thisratio should
increase over time If the owner retains farm profits and reduces
debt obligations.

Theequity-to-assetratioisoftenconverted toapercentage,
by multiplying by 100, and referred to as the Percent Equity.
Equity capitalrepresents theowners'claims againsttheassets of
thebusiness. If the percent equity does notincrease over lime,
thefarm proflts may betooloworfamily livingexpenses and other
non-farm withdrawals may be too high.

Debt-to-Asset Ratio

Thedebt-to-assetratiomeasurestheproportion oftotalfarm
assets owedtocreditors. Thehigher theratio, thegreater therisk
exposure forthe business and those providing loan funds for the
business and the less flexibility the operator has to respond to
adverse natural or market phenomenon. Thedebt-to-assetratio
is calculated as follows:

(Total current farm liabilities

+ Totalnon-currentfarmliabilities)
(Total current farmassets

+ Total non-current farm assets)

= Total farm liabilities+ Total farm assets

WithdatafromthelLondon'sbalancesheet, estimatedusing
the market-value approach and including deferred taxes, the
debt-to-asset ratio as of February 1is:

($162,431 + 211.121) + ($161,777 + $897,405) =
$373,552 + $1,059,182= 0.35

Although thereisnoexactstandard forevery farmbusiness,
adebt-to-asset ratio greater than .50indicates thatless than 50
percent of the value of the farm's total assets is contributed by
owners. Faced with this situation, the creditors are likely to be
cautious in advancing additional funds. The London's debt-to-
asset ratio of .35 indicates the creditors are contributing only
about 35 percent of the farm assets.

High debt-to-asset ratios have beeninterpreted as an indi-
cation of "farmfinancial stress." In 1988, the U.S. Department of
Agriculture indicated those farms with a debt-to-asset ratio be-
tween40 and 70 percent were likely to experience ahighlevel of
financial stress, while those with debt-to-asset ratios above 70
percent were likely lo experience very high financial stress.
Farms experiencing high financial stress may have to consider
restructuring orrefinancing debt. Farms experiencing very high
financial stress may have toliquidate certain assets in order to
improve their farm financial position. By these standards, the
London's debt-to-asset ratio is below the farm financial stress
level.
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Incomparisons between businesses, the debt-to-asset ratio
is most meaningful when the market value approach is used lo
value farm assets. When evaluating the performance of an
individualbusiness overtime, thecostapproach tovaluingassets
may provide more meaningful eslimates of the debt-to-asset
ratio. With lhe costapproach, the cost of farm assets willnot be
influenced by fluctuallons in market prtces that createannualized,
butunrealized, capital gains or losses.

Debt-to-Equity Ratio

The debt-to-equity ratioisathird measure of solvency, and
indicates the relative proportion of funds invested by creditors
versus the farm owners. The higher the value of the debt-to-
equity ratio, the more total capital supplied by the creditors
relativetothefarmowner. The debt-to-equity raUois calculated
by dividing total farm liabilitles by total farm equity, as follows:

Total farm liabilities+ Total farm equity =

Total farm liabilities
(Totalfarm assets - Total farm liabilities)

Thisrallois alsoreferred to as the leverage ratio. Leverage
refers toIncreasing the use of debt relative to equity asa means
offinancingthebusiness. Thehigher theleverage ratio, themore
total capital supplied by the creditors and the less by the farm
owner. Lenders are particularly interested Inthisratiobecause it
shows the proportion of thertsk they are takingin comparison to
theowner. Many lenders prefer the debt-to-equityratiotobeless
than 1.0, with requirements varying depending on whether the
liabilities are secured by current, intermediate, or long-term
assets. In general, the greater the loan risk and longer the loan
terms, the lower theratio desired by the lender.

Using data fromthe London's balance sheet, estimated using
the market-value approach and including deferred taxes, the
debt-to-equity ratio as of February 1 is:

$373,552 + $685,630 = 0.54

The London's debt-to-equityratio is substantially less than
1.0andindicatesthatconsiderably morecapitalisbeingsupplied
bytheownersthanthecreditors. Withequitynearlytwiceasgreat
asdebt, the London's equity position would be viewed favorably
by owner andlender.

Influence of Asset Valuation Method

All three ratios are influenced by the value placed on farm
assets. Marketvalue more accurately represents therealizable
value owners can receive for their assets. However, deferred
taxes that would resultfromthe sale of assets should beconsid-
eredasliabilities (both currentandnoncurrent) Indeveloping the
solvency ratios. Usingcurrent market value withoutconsidering
deferred taxes might suggest more "comfort" than exists. Also,
when only the market-value approach tovaluing assetsis used,
those evaluating solvency ratios need toconsider the source(s)
oftheowner equity andidentify how much camefromcontributed
capital, changes in asset values, and retained earnings. It is
important over time forequity to be earnedthrough the operation
and success of the business rather than from appreciation in
asset values.

Also, increasing the proportion of debt relative to equity in
financingthebusiness shouldnotbeviewed asnecessarily good
orbadwithoutadditionalinformation regarding the profitability of
the business. Increasing leverage can be either favorable or
unfavorable, depending ontherate of return which the additional
debt can earn relative to the cost of the debt capital. If the
business is profitable, the rate of return on the assets of the
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business is greater than the cost of capital. Increasing leverage
increases equity and therate of growth in equity. If the business
innotprofitable, increasing leverage reduces equity. Borrowing
more money to expand a business increases financial risk and
exposes thebusinesstoagreater negative impact fromadverse
outcomes.

Measuring Profitability

Profitability measures thefinancial performance of thefarm
over a period of time, usually one year, as a result of decisions
regarding use ofland,labor, capital. andmanagement resources.
The five measures used to assess profitability are net fann
income, net farmincome from operations, rate of return on farm
assets, rate of return on farm equity, and operating profit margin
ratio.

Net Farm Income from Operations

Net farmincome from operations represents thereturn to
unpaid operator and family labor and management, and the
owner's equity capitalfromthenormal operation ofthe business.
NetfarmIncomefromoperations comes directly fromtheincome
statement. and is calculated by subtracting all farm operating
expenses incurred tocreate those revenues, Including interest on
debt, from gross farm revenue. Changes In the values of
inventories andcapitalltems arereflectedinnetfarmincome from
operations, butnotthegain orlossresulting from the sale of farm
capital items andmarketable securities.

The calculation of neitfarm income from operations is
influenced by the decisionsregardinguse of the market-value or
cost approach to value farm assets. The London's net farm
income from operations, calculated using the accrual adjust-
ments approach with market values for assets, is $56,229.

Net farmincome fromoperations Is adollar amount and not
afinancialratio. Thus,noone standardis appropriate for allfarm
operations or to make comparisons with other agricultural busi-
nesses. Netfarmincomefromoperations shouldbe positive and
sufficiently large to compensate the owner for utilizing his/her
labor, management, and equity capital Inthe farming operation.
Over time, profits should increase so funds can be allocated to
farm capital replacement, non-farm expenses, and retained earn-
ings.

Net Farm Income

Net farm income is-net farm income from operations ad-
justedforthegain/lossresultingfromthe saleoffarmcapitalltems
andmarketable securities. TheLondon'snetfarmincome, using
the market-value approach, is $55,729. This net farm income
figure includes aloss on sale of farm capital assets and market-
able securities of $500. Again, since netfarmIincome is a dollar
amount, itisdifficulttoestablish astandard forcomparisonacross
farm operations.

Net farmincome from operations and net farm income are
generally calculated as "before-tax" amounts. The form of
business organization can affectinterpretation of this before-tax
amount of income. A corporation, for example, will include
payments for owner and family labor and management as ex-
pensesincalculating netfarmincome, and asole proprietorship
willusually not include these as expenses.

Rate of Return on Farm Assets (ROA)

The rate of return on farm assets (ROA) measures the
relativelncomegeneratedbytheassetsofthefarmbusiness,and
isoftenused as an overall index of profitability. Therate of return
on farm assetsis calculated as follows:
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(Net farm income from operations
+Farm interest expense

Average total farm assets

Once the Income statement has been developed, netfarm
income from operations and farminterest expense can be taken
directly from the statement. The value of unpaid operator and
familylaborandmanagement andthevalueof averagetotalfarm
assets must be estimated. Because costs typically vary widely
across farms, ROAIs mostmeaningful forcomparisons between
farm businesses when the market-value approach is used to
value farm assets. When evaluating the performance of an
individualfarmbusiness overtime, meaningfulcomparisons can
also be made if assets are valued using the cost approach. In
either case, the higher the ROA, the more profitable the opera-
tion.

Therate of returnonfarmassets usesnetfarmincomefrom
operations in its calculation because ROA is calculated for the
purpose of evaluating the profitability of the business thatresulls
from the normal, routine agricultural operallon. Including gains/
losses resulting fromthe sale of capital assets 'hat arenot part of
the normal operation could cause misleading results. Farm
business interest expense s Included because ROA measures
thereturn on all farm assets, those assets financed by creditors
as well as by owner equity. In calculating net farmIincome from
operation,stheinterest expense was subtracted from gross farm
receipts. Now, the interest expense must be added back tonet
farm income from operations to calculate ROA.

For agriculturalbusinesses that arelncorporated, orinwhich
those Involved in the operation take a salary withdrawal, wages
would have been paid to the operator and family members
employed by the business. For agricultural businesses thatare
notIncorporated, areturn tounpaid labor and managementhas
notbeensubtractedasanexpense. Because ROA measuresthe
return lo only the assets, a charge must be made for unpaid
operator and family labor and management. Thus, avalue for
unpaidoperator andfamily laborandmanagementis subtracted.
In estimating the dollar return to assets, the operator could
subtract a return for his/her labor and management valued at
what they could earn in alternative employment. Thisreturnis
oftenreferred to as the "opportunity return tolabor and manage-
ment," and varies for different individuals depending on their
opportunities for alternative employment. However, because this
opportunity return does vary by individual, precise estimates of

alternative earnings are difficult to obtain.
A proxy forunpaid operator and family labor and manage-
ment is the amount of withdrawals from the business or the

amountlisted as family living expense. If withdrawals are used,
consistency across firms maybeaproblem. Forexample, family
housing costs may beincludedin the withdrawal figure forsome
agricultural businesses, but they may be part of the farm mort-
gage interest expense for other agricultural businesses. Also, the
withdrawal figure is sometimes higher or lower than the market
opportunity cost of these resources, and it is often difficult to
determine the market opportunity cost. Ifpossible, however, one
should compare the amount of family living expense with the
opportunity cost of the labor and management resources to
assesstherealismoffamilylivingexpenses as aproxy forunpaid
operator and family labor and management.

Finally, the ROA calculation is based on the average value
of farmassets, rather thanthe beginning orending asset values,
because the return is generated for the entire year. Non-fann
assets should be excluded from the calculation of ROA for the
agricultural business. Because thereturnis to farm assets, the
denominator of the equation should only include farm assets.

Calculating the rate of return on farm assets for Jack and

JulieLondon,usingthemarket-valueapproachtovaluingassets,
involves several steps:

Return to farm assets:

$ 56,229 Net farm income from operations
+28,180 Farm interest expense

-22.500 Opportunity return to labor and management
$61,909 Return to total farm assets

Averagetotalfarmassets equals(beginningtotalfarmasset
values + ending total farm asset values)+ 2. For the Londons,
average total farm assets are:

$1059.182+$1,097,111 =

2

$2.156.293 = $1,078,146
2

The calculation of rate of return on farm assets using the
market-value approach to valuing assets involves dividing the
returntototalfarmassets by averagetotalfarmassets, asfollows:

$61,909 +$1,078,146 = 0.057
or, multiplying by 100 to convert to a percentage,
=57%

The rate of return onfarm assets will vary by farm type, but
the higher the ROA value, the more profitable the farming
operation. ROAis oftencomparedtothe average interestrate on
borrowed capital or to the cost of new borrowing. If the ROA
exceeds the cost of borrowed capital, then the borrowed capital
is being used profitably in the business and increasing leverage
will contribute to additional firm growth. If, however, the ROA is
less than the cost of borrowed capital, borrowed funds are not
being used profitably and increasing debt will reduce growth In
equity. So, the level of profitability is an important key to
successful use of debt financing as a strategy to increase the
equity of the business.

For the London's operation. the average interest rate on
borrowed capital can be estimated as follows:

Farminterest expenses = $28.180= 0.0748
Averagetotalfarmliabilities $376,584

where average total farm liabilities =

(beqginning total farm liabilities+ ending total farm liabilities)
2

= ($373,552 + $379.617)

2

= $753,169
2

= $376,584

For the London's operation, the rate of return on assets of
5.74 percent is less than the average interest rate on borrowed
capital of 7.48 percent. It may also be less than the Interest rate
charged onnew borrowed capital. Expanding the operation using
borrowed capitalwouldnotbeconsidered aprofitable alternative
under these circumstances.
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Comparisons torates-of-return on other investments or to
other agricultural businesses should be onthe same basisiif the
comparison is to be meaningful. FInally, the rate-of-return on
farm assets may seem low when compared tonon-farminvest-

ments such as stocks and bonds. In making comparisons,
remember that realized and unrealized capital gains are not
included In thereturn to farm assets. Also, the method used to
value farmassetshas asignificant effect on ROA. If agricultural
real estate Is valued at acost of $300 per acre versus a current
marketvalueof$1,500 per acre, theratiowillconsiderably differ.
Profitability also is important when evalualing any new
business investment. Rather than considering overall level of
profitability, however, the decision maker should compare the
rate-of-return onthe specificinvestment alternative with the cost
of capital needed to finance the investment.

Rate of Return on Fann Equity (ROE)

Another measure of farm profitability Is the rate ofre\Jmon
farm equity (ROE). It is calculated asfollows:

Netfarmincome from operations can directly be taken from
the completed income statement, while the value of unpaid
operator and family labor, management, and average total farm
equity must be estimated. The earlier discussion of issues
surrounding estimation ofthe value ofunpaidoperatorandfamily
labor, and management is still appropriate. Average total farm
equity is used since profitability is being measured for the year,
rather than at the beginning or end of the year. Therate of return
on equity (ROE) measures therate of return on only the owner's
equity capital thatis employed in the farm business, rather than
on both owned andborrowed capital asInthe calculation of ROA.
Thus,incalculatingROE, theinterestexpenseis notadded back
into the numerator as it was in the calculation of ROA.

As with ROA, use of the market-value approach to valuing
assets is recommended when comparing profitability across indi-
vidual farms, while the cost approachisrecommended for making
comparisons ofanindividual's business performanceovertime.

Calculatingtherateofreturnonfarmequity for theLondon's
operation involves estimating the return to farm equity and
dividingitby average farmequity. Thereturntofarmequity using
the market-value approach tovaluing assets. including deferred
taxes, is calculated asfollows:

$56,229  Net farm income from operations
-22,500 Valueofunpaid operator and family labor,

and management
Return to farm equity

$33,729

Average farm equity using the market-value approach to
valuing assets is calculated as follows:

$ 685,630 Beginning total farm equity
+ 717,494 Ending total farm equity
$1.403,124

$1,403,124 + 2 :: $701,562

Therateofreturnonequity fortheLondon'soperationisasfollows:

$33,729+ $701,562 =0.0481, or 4.81%

Ingeneral, thehigher the value of ROE, the more profitable

becompared toalternative rates of return which could beearned
by the funds currently invested in the farm. If the farm equity
capital was employed in some non-farm alternative, such as
certificates of depositatthelocal bank, theexpectedrate ofreturn
would approximate current rates on bank CDs. If the ROE from
farming is less than this opportunity rate of return on equity
capital, the profitability of farming might be considered low.
Nationally, estimates ofROE for agriculture are typically between
twoandfour percent, buthave been ashighas 9 percent (1973)
andevenslightlynegative (1983-84). Whilethenationalaverage
may be relallvely low, ROE onindividual fanns can vary widely.
Some caution mustbe exercised in interpreting the rate of
returnonequity. Ahighrate,nonnally associated with aprofitable
agricullural business, may alsolndicate arelatively smallcapital
base or a highly-leveraged agricultural business. A low rate of
return onequity, whichnormally Indicates arelatively unprofitable
farm business, may also indicate a more conservative, high-
equity agriculturalbusiness. So.thismeasure, like many others,
should beusedinconjunction with othermeasures whenanalyz-
ing an agricultural business.

Operating Profit Margin Ratio

Thefinal profitability measureis the operating profit margin
ratio. whichmeasures thereturnlo capitalperdollar of gross farm
revenue (or per dollar of value off armproduction). Theoperating
profit margin ratio is calculated as follows:

(Net farm income from operations
+ Farm Interest expense
Value of unpaid operator and family labor,

Gross farm revenue or value of farm production

The numerator for the operating profit margin ratio is the
same as for the rate of retum on assets. The basis for the
calculation Is net farm income from operations. Farm interest
expense, which was subtracted in estimating net farmincome
from operations, is added back into the numerator. This action
focuses attention on operating efficiency in order to compare
performance between businesses without considering theimpact
of different levels of debt. Itisimportant touse accrual-adjusted
income measures in calculating thisratio. Finally, an estimate of
thevalue ofunpaid operator and family labor and managementis
subtracted to get the operating profit margin.

The operating profit margin ratio can be calculated by
dividing the operating profit margin by either gross farmrevenue
or the value of farm production. The value of farm production is
calculated by subtractingfromgrossfarmrevenue theamount of
purchasedfeedandpurchasedlivestock heldforresale (feeding

livestock). Thus, the difference in the operating profit margin
basedonthetwaodifferentcalculationswilldependontheamount
of purchased feed and livestock held for resale in the business.
The operating profit margin for the London's is calculated,
using the market-value approach to valuing assets. as net farm
income from operations ($56,229) + farm interest expense
($28,180)-value of unpaid operator andfamily labor and man-
agement ($22,500) = $61,909. The value of farm production is
calculated as follows:

$ 264,925 Gross farm revenue
86,088 Purchased market livestock
3,545  Purchased feed/grain

+ 68 Change in purchasedfeed/grain
$ 175,360 Value of farm production

thefarmbusiness. TheROE estimated forafarmbusiness might
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by dividing the operating profit margin of $61,909 by gross farm
The operating profit margin ratio can then be calculated
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revenue of $264,925 toget 23.4 percent, or dividing by the value
of farm production of $175,360 to get 35.3 percent. Therelsno
absolute standard for thisprofitability measure, butthe higher the
ratio, the more profitable the farm business.

An agricultural business canincrease profits byincreasing the
profitper unit produced orby increasing the volume of production
while maintaining the profit per unll The operating profit margin
ratio focuses more on increasing profit per unit, while the asset
turnover ratio, whichlsdiscussed later,focuses more onlncreasing
volume of production while rnalntalning the profit per unit

Measuring Financial Efficiency

Thereareanumber of ratios thatmeasure efficiency, which
is an important component of profltabllity. The ratios relate
physical output to selected physical inputs, and help evaluate
whetherornotfarm assets are beingused efficiently togenerate

income. The measures most widely used and generally appli-
cabletoalltypes ofagriculturalbusinesses arethe assetturnover
ratioandfouroperatingratios: operatingexpenseratio,deprecia-
tion expense ratio, farm Interest expense ratio, and net farm

income from operations ratio.

Asset Turnover Ratio

Theassetturnoverratiols calculated by dividing gross farm
revenuebyaverage totalfannassets. Theassetturnoverratio for
Jack and Julie London, calculated using the market-value ap-
proach to valuing assets, is calculated as follows:

Gross farmrevenues $ 264,925 H 0.246
Average total farm assets $1,078,146

The asset turnover ratio measures how efficiently farm assets are
being usedto generate gross farm revenue. Intensity of use of
physical assets is also reflected in the ratio. An agricultural
business may have alarge asset base, butnot use those assets
effectively togenerate farm revenue. Ways toincrease the asset
turnover ratio include renting or teasing additional land, grazing
winter wheat, double cropping, and using existing machinery and
equipment more hours over the additional acres. Other ways
includerenting orleasing equipment and/or facilities rather than
owningthose assets, assumingthattheseare profitable alterna-
tives.

This ratio can vary substantially across agricultural busi-
nesses, but thehigher theratio, themore efficiently farmassets are
being usedto generate farm revenue. The agricultural industry
generally tends to have both a slowrate of asset turnover, particu-
larly when assets are valuedusing the market-value approach, and
arelatively low operating profit margin. As aresult, agricultural
firms tend to eam alow rate-or-return onrarm assets.

Importantrelationships exists between andamongtherate-
of-retumon farmassets, theoperatingprofitmarginratio, andthe
asset turnover ratio. Multiplying the asset turnover ratio by the
operating profit margin ratio will equal the rate-of-return onrarm
assets. Forthe Jack andJulie London operation, multiplying the
assetturnover ratioof0.246 by the operating marginratioof0.234
results in therate of return on farm assets of 5.76 percent. The
asset valuation approach used to calculate the asset turnover
ratiomustbethe same astheapproach usedtocalculate therate-
of-returnonfarmassets. Inaddition,non-business assetsshould
be excluded fromthe denominator.

Operational Ratios

The four operational ratios that reHect the composition of
gross farm revenue (or value offarm production) are the operating
expense ratio. the depreciation expense ratio, the farm interest
expenseratio, andthe netfarmincome from operations ratio.

Operating Expense Ratio
The operating expense ratio is calculated as follows:

Total operating expenses - Depreciation expense
Gross farm revenues

This ratio reflects the extent to which gross farm revenues
are expended on rarm operating Inputs, excluding depreciation
andlInterest. Since total operating expenses are definedwithout
Including Interest expenses, this ratio compares non-interest,
non-depreciationoperatingexpensestototalfarmrevenues. The
higherthevalueoftheratio, thelarger theproportion of gross farm
revenues needed to offset all operating expenses.

For Jack and Julie London, the operating expense ratioIs
calculated as follows:

$180,516  Operating expenses
* 22,164  Depreciation expense
158,352  Total operating expenses

$158,352 + $264,925 :: .5977, or 59.8%

Ratios in the 40 to 60 percent range would be relatively
efficient, with efficiency declining as theratiorises. Ratiosinthe
60 to 75 percent range would reflect average efficiency, while
ratios of 75 percent or larger would reflect marginal efficiency.
The London's ratio of nearly 60 percent indicates that about 40
percent of gross farm revenue are available to replace depre-
ciable assets, make all interest and principal payments on real
assets, and provide family living. This ratiois approaching the
average efficiency level.

Depreciation Expense Ratio
The depreciation expense ratio is calculated as follows:

Gross farm revenues

This ratio measures the proportion of gross farm revenue
represented by the depreciation expense. Depreciationisanon-
cash expense, yet reflects the level of capital replacement re-
quired to maintain the depreciable assets of the business. A
relatively low depreciation expense ratio would tend to indicate
little difficulty inmakingplanned andtimely replacement of capital
assets. Arelatlvely highratio indicates that proportionally more
gross farmrevenue isrequired tomaintain the capitalbase of the
operation. Thedepreciation expenseratiovaries betweentypes
of farm businesses due to variations in depreciation methods
usedandthe differences inamounts of depreciable assets used
in the production process.

For the Jack and Julie London operation, the depreciation
expense ratio is as follows:

$22,164 + $264,925:: 0.0837, or 8.4%

Thisdepreciation expenseratioof8.4 percentindicates that
the Londons wouldhave little trouble making planned and timely
replacement of capital assets. A relatively low ratio could also
indicate thatthe Londons have arelatively old set of equipment.
Fann Interest Expense Ratio

The farm interest expense ratio is calculated as follows:

Total farm Interest expense
Gross farm revenues
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Thisratiorocuses onthe proportion or gross rarmrevenues
required to cover the rarm's interest expenses. Large interest
expenses, andlargeinterest expenseratios, arecharacteristicof
highly leveraged farm operations. The acceptable percentage
will vary according to the other claims against revenues, such as
other production expenses and withdrawals for family living
expenses. However, whenthisratiorises to15percent, totalfarm
interest expense Is a sufficiently large proportion of gross farm
revenues thattherarmis likely suffering "financial stress.» Rev-
enues rrom non-farm sources, such as off-farm employment or
investments, may offset the higher ratio and reduce financial
stress. If theratiols above 20 percent, however, financial stress
may be more serious. The operator may want to consider
alternative types of financing which wouldreduce interestrates,
or may wanttodelay anticipated capital purchases whichrequire
addltlonal debt financing.

For the Jack and Julie London operation, the farm Interest
expense ratio is as follows:

$28,180+ $264,925:: 0.1064. or 10.6%

This ratio Is less than the 15 percent at which many farm
businesses are thought to be suffering some degree of financial
stress.

Thefarminterest expenseratioalsohasimportant Implica-
tions forthe profitable useof debtfinancing and financialrisk. As
indicatedin eariier discussions of profitability, iftherate-of-return
on total farm assets (ROA) exceeds the cost of debt financing,
increasing debt Increases growth in farm equity. So, if the farm
is profitable, afarm interest expense ratio above 0.20 might not
be of concern. However, ifthe ROA isless than the interest rate
on debt, then the rate-of-return on equity (ROE) will be less than
ROA. Ifthe firmis notprofitable, additional debtfinancing would
reduce growthInequity and afarmInterestexpenseratioof0.20
would be of concern. In general, farm interest expense ratios in
the 0.20-0.25 range are probably high for many agricultural
operations.

Net Fann Income from Operations Ratio

Thenetfarmincome from operations ratiois calculated as
follows:

Netfarmincome from operations
Gross farmrevenues

This ratio measures net farm income from operations as a

proportion of gross farm revenues. Net farm income rrom
operations reflects thereturn tounpaid operator andfamily labor
and management, and equity capital. Thus, it reflects the
proportion ofgross farmrevenues whichremain afterallowances
forfarmoperating expenses. Netfarmincome fromoperationsis
calculated on abefore-tax basis.

For the Jack and Julie London operation, the net farm

income from operations ratiois as follows:

$56,229 + $264,925 = 0.2122 :: 21.2%

If the four operational ratios discussed above are added to-
gether, the total should equal lo 100 percent. For theLondon's

operation, the total of the four ratios is as follows:

Operating expense ratio 59.8%
Depreciation expense ratio 8.4%
Interest expense ratio 10.6%
Net farm income from operations ratio 21.2%

Measures of Repayment Capacity

Repayment capacity is the ability of the farm operation to
cover its financial obligations as they come due. Two measures
of repayment capacity which focus on the ability of the farm
operation to repay term debt and capital lease obligations from
farm and non-farm income are the term debt and capital lease
coverage ratioandthe capital replacement andterm debt repay-
ment margin.

Term Debt and Capital Lease Coverage Ratio

Thetermdebtand capitallease coverageratiois calculated
by dividing term debt and capital lease repayment capacity by
term debt and capital lease repayment commitments. These
components are reflected in the numerator and denominator,
respectively, of the following equation:

(Net farm income from operations
Total non-farmincome
Depreciation expense
Interest on termdebt
Interest on capitalleases
Totalincome and Social Security tax expenses
Withdrawals for family living)
+  (Annualscheduled principal andinterest payments on
term debt
+  Annual scheduledprincipal andInterest payments on
capital leases)
Thefollowingequationisforthoseusingconsolidatedfinan-
cial information. Non-farm term debt principal and interest
payments areindudedwiththefarmtermdebt. Somediscussion
of reasons for including various components used to calculate
thisratiomay be helpful. Non-farmincomeisincluded because
that source of income can be used, along with farm income, to
repay debt and capital lease commitments. Depreciation ex-
penseisaddedtonetfarmincome fromoperations because itis
anon-cash expense. Interest ontermdebtand capital leasesis
added because the coverage ratio is calculated for the total
payment of principal and interest. Income and social security
taxes aresubtracted because those uses would compete forthe
funds needed to repay term debt. Finally, withdrawals are
subtractedbecausethosedollarsarenotavailabletorepay other
obligations. Termdebtisdebtthatis duebeyondthecurrentyear.
For the Jack and Julie London operation, thetermdebtand
capital lease coverage ratio is calculated as follows:

+ + o+ o+

$56,229  Netfarmincome fromoperations

+16,742 Non-farm Income

+22,164 Depreciation expense

+19,722 Interest on term debt

+ 0 Interest on capital leases

-11,813 Totalincome and Social Security tax expense
-22,500 Withdrawals for family living

$80.544 Numerator

$27,147 Scheduled principal payments on term debt
+19,722 Scheduled interest payments on term debt
0 Scheduled principal andinterest payments on
capital leases

$46,869 Denominator

$80,544 +$46,869 = 1.72

Obviously, theratioshouldbegreater than1.0. Astrongratio
would be 1.5 or above, while an acceptable ratio would be 1.10

298



Updated 4/15/2013

Total 100.0% to 1.49. Higher ratio values also indicate greater flexibility to
weather temporary economic adversity. If the ratio is less than
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1.0, the operator will not be able to cover all debt and lease
payments. With a ratio of 1.72, Jack and Julie London are in a
strong repayment capacity position.

Even though the farm may generate sufficient earnings to
cover all term debt and capital lease payments, cash may not be
surficlent on a specific date to actually make the payments on a
timely basis. Interpretation of this ratio can be incorrect in the
shortrunif the operator isliquidating inventories togenerate cash
or is building inventories. Even though depreciation expense
appearsin the calculation, there is no provision in theratio for the
replacement of capital farm assets. In addition, the appropriate
value for thisratio willvary depending on the production andprice
variability associated with the farm enterprise, the degree of
diversification for farm and non-farm enterprises, and the finan-
cial andrisk management ab!lltles of the operator.

Capital Replacement and Term Debt Repayment
Margin

Another measure of repayment capacity is the capital re-
placement and term debt replacement margin. The margin is
determined by calculating the capital replacement andterm debt
repayment capacity and then subtracting principal payments to
be made on operating debt and the current portions of term debt
and capital leases. The capital replacement and term debt
replacement margin Is calculated asfollows:

Net farm income from operations

Total nonfarm income
+  Depreciation expense

Total income and Social Security tax expense

Withdrawals for family living
= Capital replacement and term debt repayment capacity

Capital replacement and term debt repayment capacity
Payments on unpaid operating debt from a prior period
Principal payments on current portions of term debt
Principal payments on current portions of capital leases
Total annual payments on personal liabilities not
included in withdrawals

= Capital replacement and term debt repaymentmargin

Thismeasure enables the operator andagricultural lender to
evaluate the ability of the farm to generate funds necessary to
repay debts which have maturity dates longer than one year and
lo replace capital leases. The measure also enables farmers to
evaluate the ability to acquire additional capital or service addi-
tional term debt and to evaluate the risk margin for capital
replacement and debt service.

Forthe Jackand Julie London operation, the capitalreplace-
ment and term debt repayment margin is calculated as follows:

$ 56,229  Net farm income from operations
+ 16,742 Non-farm income
+ 22,164  Depreciation expense

11,813 Totallncome and Social Security tax expense

- 22500 _Withdrawals for familyliving
$ 60,822 Capital replacement and term debt repayment
capacity
0 Payments on unpaid operating debt from prior
period
27,147  Principal payments on current portion of term
debt
0  Principal payments on current portion of capital
leases

0 Annual payments on personal liabilities

S 33,675 Capital replacement and term debt repayment
margin

As indicated, about $33,675 is available toreplace capital
andto serve as amarginduringtimes of adversity. Thedeprecia-
tion expense for the Londons was $22,164, so they have suffi-
cient margin available to replace capital.

Ingeneral, thelarger the dollar amount of the capitalreplace-
ment and term debt repayment margin the greater the ability to
handle risk. However, the margin can be misleading if the funds
are notavailable whenneeded during the year torepay term debt
and capital lease obligations. Also, the economic relationship
between depreciation and cash payments for capital purchases
is important. Depreciation of capital assets tends to be reflected
rather evenly acrosstax years. However, capital purchases tend
tobe"lumpy,- with the entire purchase price or the down payment
and some financing costs paid at discrete points in lime. So,
business analysis is oftenmore relevant If actual usefullifeisused
to calculate depreciation rather than using tax depreciation.

Finally, one should attempt to look ahead for several years,
rather than just at a single year in isolation, when evaluating the
margin for capital replacement and debt service. An evaluation
of repayment capacity should also include the liquidity ratios
discussed earlier, and an analysis of the cash flow plan.

Computerized Farm Financial Statements

An OSU spreadsheet program, “Integrated Farm Financial
Statements (IFFS)," facilitates calculation of farm cash flow
budgets, income statements, balance sheets, and financial ra-
tios. The computer program utilizes data from farm enterprise
cost and return budgets and additional information provided by
thefarmorranchoperator. Foradditional information, contact the
Department of Agricultural Economics, Room 515 Agricultural
Hall, Oklahoma State University, Stillwater, Oklahoma 74076-
6026 or Cooperative Extension area agricultural economics
specialists.

Summary and Conclusions

Analyzing the level of key financial measures and their
relationships can provide valuable insights to farm and ranch
managers. Comparisons of measures from year to year signal
whether the business financial performance is satisfactory and
whether the financial position is improving or deteriorating. Itis
often very difficult to compare the absolute levels of financial
measures for different farms due to fundamental differences in
the size, capital requirements, and cash flow produced by the
operations.

For moreinformation on the financial statements, see OSU
Extension Facts F-751, Developing aCash Flow Plan; Extension
Facts F-752, Developing a Balance Sheet; and Extension Facts

F-753, Developing an Income Statement.
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ax,perabon wilh Ille U.S. Depurtmenl ol Agncullun,, Samuel E. Cull,Oirecior of Coopera-
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2006 Okmulgee Ag Econ Test

Select the most correct answer for each question. Each question is worth 5 points.

1. Adgrainelevator operator wantsto hedge grainthat isin storage to protect against aprice

decline. When the grain is purchased the operator should:

COw>

2. Whichofthe following statements correctly describes the first year's payment on$9,000

Sell futures contracts of grain and buy the contracts back when the grain is sold.
Buy futures contracts of grain and sell the contracts when the grain is sold.
Sell the grain and buy futures contracts if the price goes up.

Sell the grain and sell the futures short, and then buy back the futures at the end of
the storage period.

loan onwhichthe principal isto be repaid in 3equal, annual installments with the interest

charged at 10%.

A. principal =$4,500,
B. principal= $3,000,
C. principal =$6,000
D. principal= $6,000

interest =$900
interest =$900
interest =$300
interest =600

3. Yourtotal cashcostsof producing com this year is $20,000. You borrowed 50% of the
production costsatthe local bank, at a 15% interest rate. The yield was 10,000 bushels.
You paid the loan in full exactly a year after you borrowed it. What is the interest cost
per bushel of comproduced?

A. $1.50
B. $1.30
C. $0.15
D. $3.00

4. Assume anacre ofland will produce anaverage net return to land of $40.00. A fanner
wantsa 7% return to land. What is the maximum the farmer can pay for anacre of this

crop land?

A. $280
B. $400
C. $428
D. $571
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5. The demand curve shows the relationship between:

Consumer tastes and the quantity demanded.
Price and the quantity demanded.

Price and production costs.

Money income and quantity demanded.

oow>

6. A measure of liquidity is:

A. Net capital ratio.
B. Debt to asset ratio.
C. Current ratio.

D. Debt to equity ratio.

7. Ifconsumers buy less beef because pork prices have decreased, and nothing else effects
the market, there has been:

An increase in demand forbeef
A decrease in demand for beef.
No change in demand for beef.
Decrease in thesupply of beef.

oo w>

8. Inflation means:

A. A dollar will buy more in the future than it will buy today.

B. The prices at which the interest rate will equal the inflation rate.

C. The prices at which the interest rate will increase over time due to higher prices.
D. The purchasing power of a dollar declines over time.

9. Which of the following is most closely related to achieving "economies of size?"

Opportunity cost of equity capital and labor.
Spreading out the fixed costs.

Increasing variable costs per unity.
Reducing cash costs.

o0 >

10. Which of the following is not a currentasset?

A. Non-breeding livestock
B. Machinery

C. Crop inventory

D. Accounts receivable.
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11. A business which is highly leveraged isone which has:

A. A large debt relative to net worth

B. Many current liabilities

C. A very large net fann income.

D. A large amount of equity capital and little debt capital.

12. Afarmer's net worth statement shows the following balances: current assets= $25,000,
non-current assets=$375,000, current liabilities= $70,000, and non-current liabilities=
$230,000. The farmers debt (liability) to asset ratio is:

A. 0.30to 1.00
B. 0.60to 1.00
C. 0.75t0 1.00
D. 1.25t0 1.00

13. The purpose of tax planning and management is:

A. To minimize the taxbill.

8. Improve record keeping

C. Reduce the chance ofaudit
D. Maximize profits after taxes.

14. Ananalyst isstudying adry beanenterprise. Assuming that information isavailable and
a farmer istrying to get the maximum returns above variable costs, the analyst should
recommend that the farmer produce where:

A. Average total cost isequal to average total revenue.
8. Marginal cost is equal to marginal revenue.

C. Marginal cost is equal to average totalcost.

D. Marginal revenue us equal to average variable cost.

15. Income earned or expenses incurred but not yet received or paid are known as:

A. Spent income or expenses.

8. Accrued income or expenses.
C. Recorded income or expenses.
D. Cash income or expenses.
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16. A supply curve shows the relationship between quantity supplied and:

A. Quality
8. Price

C. Income
D. Demand

17. A producer could maximize returns by increasing production as long as the:

A. Average total cost of production per unity produced are less than the selling price.

8. Variable costs are less than the selling price.

C. Added return of the last unity produced is greater than the added cost of
producing it.

D. Fixed costs per unit produced can be decreased.

18. A soybean producer decided to store soybeans in the local elevator for six months. The
price at harvest is $7.20 per bushel and the elevator charges 2¢ per bushel per month for
storage plus a 5¢ per bushel handling charge. The producer has 5,000 bushels to selland
must borrow $36,000 at 8% annual interest while the soybeans are stored. What price
must be received for the soybeans to break even and cover the storage and opportunity
costs?

A. $7.37
B. $7.45
C. $7.66
D. $7.95

19. One advantage of leasing is that:

Lease payments are tax deductible while interest payments are not.
Leasing always provides a larger deduction than depreciation.
Leasing does not require as much initial capital.

Investment credit can be used for leasing.

CoOw>

20. The main difference between cash and accrual accounting is that accrual accounting
includes:

A charge for unpaid family labor.
Depreciation.

Adjustments for changes in inventory
Sales of capital assets.

COw>
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21.

22.

23.

24,

25.

Whichofthe following isthe most appropriate measure for comparing the profitability of
two farms?

A. Debt/ asset ratio

B. Rate of return to equitycapital
C. Gross farm income

D. Rate of return onassets

Crop insurance, hedging, options, and liability insurance provide a means of:

A. Increasing profits

B. Increasing working capital.
C. Reducing risks.

D. Lowering costs.

A cattle feeding operation has sales 0f$60,000, feed purchases 0f$40,000, other costs of
$10,000, anopening inventory of$40,000, and a closing inventory 0f$32,000. What is
the net farm income for this operation?

A. $10,000
B. $ 2,000
C. $60,000
D. $180,000

The difference betweenacash price ataparticular location and a specified futures
contract price is called:

A. Margin.
B. Basis

C. Option.
D. Interest

Offsetting a position inthe cash market with anequal position in the futures market to
minimize price risk is called:

A. Speculating.
B. Limitmove.
C. Hedging.

D. Offset move.
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26. A farmers com crop has an expected yield of 95 bushels per acre and production cost of
$140.00 per acre.. The expected harvest price is$2.25 per bushel for com. Soybeans can
be raised at a production cost of $105 per acre with an expected yield of 30 bushels per
acre. At what price would soybeans generate the same net return per acre ascom?

A. $5.84
8. $5.96
C. $6.07
D. $6.29

27. The tax you owe on each additional dollar of taxable income is called the:

A. Section 179 deduction

8. Straight-line tax rate

C. Marginal tax rate

D. Federal adjusted taxable income;

28. The present value of $100 that will be received at the end of 1 year, given a 5% interest
(discount) rate is:

A$ 90
8. $95
C. $100
D. $105

29. A farmer rents an adjacent 100 acres of cropland for $40 per acre to operate with the
current 400 acres and existing equipment. The effect onthe farmer's equipment costs
will be:

A. To increase fixed costs per acre.
8. To decrease fixed costs per acre.
C. To increase variable costs peracre.
D. To decrease variable costs peracre.

30. An elevator quotes the price per bushel of soybeans at ""25 cents under November
futures." What would futures have to sell for to provide a cash price of $7 per bushel?

A. $6.75
B. $7.25
C. $7.50
D. $8.00
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31.

32.

33.

34.

35.

A feed lot operator buys feeder steers, finishes them, and sells them. The operator
estimates that the finished steers will sell for $80 per cwt, and that it will cost $250 per
head to bring them from the 700 pound purchase weight to the 1100 pound selling
weight. What isthe highest price the operator can pay per hundredweight for 700 pound
feeder steers to break even?

A. $62.
B. $80.
C. $90.
D. $96.

Agraincombine can be purchased for $90,000. Total annual fixed costs will be $12,000,
and variable costs per acre will be $10 per acre. If a custom operator can be hired to
combine grain for $25 per acre, what is the minimum number of acres one should plan to
harvest to justify buying the combine?

A. 600
B. 800
C. 1000
D. 1200.

On March 1, afarmer borrowed $25,000 to buy seed and fertilizer. On December 1, the
farmer repaid the $25,000 along with $1,828.13 interest. What isthe annual interest rate
of the loan?

A 731
B. 8.77
C. 9.75
D. 18.28

Alocal elevator quotes comat 20¢ under March futures, and will pick up the grain for
free. Atenninal quotes 5¢ under, but it costs 10¢ to haul it there. If March futures sells
for $3.25, where can you get the highest price, and how much is it?

A. $3.10attheterminal
B. $3.20attheterminal
C. $3.20attheelevator
D. $3.05 at the elevator.

Renting farm land on shares of production rather than cash results in:

Less risk for the landlord, more risk for the tenant.
More risk for the landlord, less risk for the tenant.
More risk for both the landlord and the tenant.
Less risk for both the landlord and the tenant.

COow>
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36.

37.

38.

39.

40.

41.

As output increases, average fixed costs will:

Remain constant.

Increase.

Decrease.

Decrease and then increase.

oo w>

The percent return on equity (ROE) measures the percent returnon:

A. Investment.
B. Profit_.

C. Net worth.

D. Total Assets.

A farm manager with a 1:1 debt/equity ratio who isin need ofa high level of life
insurance protection per dollar of premium should purchase:

A. A limited-payment policy.
B. A straight-life policy

C. An endowment policy.

D. Atermpolicy.

For maximum net returns, a farmer should substitute machinery for labor when:

A. The annual costs of machine use are equal to the costs of labor.

B. The value of labor saved is higher than the costs of the machine used.
C. There is alimited supply of labor.

D. The additional machine will increase labor efficiency.

Why do farmers generally have no control over prices of their products?

A. There are many sellers competing in the market.
B. Futures market speculators set prices.

C. Middlemen set prices.

D. The Federal Price Stabilization Board sets prices.

If your analysis of the balance sheet indicates the debt to equity ratio to be 0.5t0 1.0,
what is the debt toasset ratio?

A. 0.331t01.00
B. 0.50to0 1.00
C. 1.50to0 1.00
D. 0.25t0 1.00
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42. Which of the following should be used to determine the amount of net return earned by
the farm?

Cash flow
Income statement
Partial budget
Enterprise budget

COw>»

43. A farmer has liabilities of $456,000, and assets totaling $658,000, of which machinery is
$240,000. What will the farmer's debt/equity ratio be if the lender devalues the
machinery by 10%?

A. 1.39
B. 2.25
C. 2.56
D. 3.56

44, A constant payment loan with payment consisting of principal and interest is called:

An amortized loan.
A discounted loan.
A capital loan.

A fixed rate loan.

OO

45. Which of the following factors influences the demand for a product?

A. The price of a substitute product.
B. Consumer income levels.

C. Tastes and preferences.

D. All of theabove.

46. Onepossible advantage of incorporating the family farmis

A. The need to keep fewer records.

B. Limited liability.

C. Doubletaxation.

D. Fewer regulations and rules to follow.

47. Anaccrued liability that must be paid within the yearisa

Current asset
Non-current asset
Non-current liability
Current liability

COowm>
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48.

49.

50.

51.

52.

53.

The projected cash flow is useful in estimating:

A. Credit needs.
8. Depreciation.
C. Return on assets.
D. Profitability.

The "basis" of a new depreciable asset when a trade-in is involvedis:

A. The nondepreciated balance of the asset traded plus the cash paid.
8. Its market price plus the nondepreciated balance of the trade-in.

C. The cash paid plus the amount financed.

D. The market price minus the cash paid.

What value should be used on a cow-calf enterprise budget for the value of homegrown
feeds?

A. Cash invested in growing crops.

8. Actual purchase cost of similar commercial feeds.
C. Actual production costs of the homegrown feeds.
D. Net selling price of the homegrown feeds.

A bull market is one in which:

No cows can besold.

Market prices are unchanging.
Market prices are trendingup.
Market prices are trending down.

COw>

Which of the following criteria for ranking investments considers the time value of
money?

Simple rate of return method
Payback method

The extrapolation method.
Net present value method.

CoOw>

Which of the following is a fixed cost?

Interest on operating capital.

Depreciation on buildings and equipment.
Seed and fertilizer

Fuel and lubrication.

oSO m»
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54. The financial condition of a business at a point in time is best shown on a(n):

Net worth statement.
Income statement.

Cash flow statement.
Depreciation record.

oo w»

55. A $1 deductible expense (before tax) will cost after tax if the farmer's marginal
tax rate is 40%.

A. $0.00
B. $0.40
C. $0.60
D. $1.00

56. Inanalysis of a farm, what would you do if a cash flow projection indicated that there
would be more expenses than income in a certain month?

A. Terminate the enterprise causing the cash flow problem that month.
B. Use savings, delay expenses, move up sales, or borrow money.

C. Change from cash to accrual accounting method.

D. Change depreciation methods.

57. Study the following investment's projected net cash flows and net present value. NPV was calculated
using a discount rate of 11.00%. NPV is $114.25. Which of the following rates will be the internal rate of
return? (You need not make any calculations but may do so if you would like.)

Year Net Cash 11% Present
Flow Value
0 -11,400.00 1 -11,400.00
1 8,000.00 0.9009009 7,207.21
2 4,000.00 0.8116224 3,246.49
3 1,000.00 0.7311914 731.19
4 500.00 0.658731 329.37
NPV 114.25
A. 10.987%
B. 11.744%
C. 18.000%
D. 6.000%

11
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Given the Net Worth Statement and Income Statement for the Adams Farm (on the following

pages):

58. What is the rate of return on assets (ROA) for 19987

Write your answer in the blank as a percent, using two decimal places.

For example, 10.43%.

59. What is the rate of return on equity (ROE) for 1998?

Write your answer in the blank as a percent, using two decimal places.

For example, 7.65%.

60. Which of the following statements is true about the Adams Farm for 1998?

A.

B.

ROE > ROA > average interest rate
Average interest rate> ROA> ROE
ROE > average interest rate > ROA

ROA > average interest rate > ROE

12
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NET WORTH STATEMENTS FOR THE ADAMS FARM
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INCOME STATEMENTS FOR THE ADAMS FARM
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Fueland OH
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2006 Okmulgee Ag Econ Test
Answer Sheet

Contestant #

26
27
28
29
30
31
32
33
34
35
36
37
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45
46
477
48
49
50

School

51
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53
54
55
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2006 Okmulgee Ag EconTest
Answer Sheet

Name Contest# School

1 A 26 B 51 C
2 B 271 C 52 D
3 C 28 B 53 B
4 D 29 B 54 A
5 B 30 B 55 C
6 C 31 C 56 B
7 B 32 B 57 B
8 D 33 C 58 6.97%
9 B 34 A 59 2.22%
10 B 35 B 60 B
11 A 36 C

12 C 37 C

13 D 38 D

14 B 39 B

15 B 40 A

16 B 41 A

17 C 42 B

18 C 43 C

19 C 44 A

20 C 45 D

21 D 46 B

22 C 47 D

23 B 48 A

24 B 49 A

25 C 50 D
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	b.  $1,101
	3S. Farmer Ben also has an annual land payment of $12,840. It is due mid-August of each year. The interest rate is I 0.5% and the total principal outstanding is $77,227. How much interest accrued in the 4.5 months from mid-August to the balance sheet ...
	d.   $ 676
	•
	•
	53.   C
	30.±
	Select the most correct answer for each question. Each question is worth 5 points.
	B. $90.00/cwt
	D. $62.50/cwt
	11. On April 1, Karen borrowed $8,000 to plant com. On November 1, she repaid the $8,000 along with $49S interest. What annual interest rate did she pay?
	C. 10.607%
	12. A farmer wants to evaluate ifhe should rent additional hay acreage to replace purchase hay for his dairy herd. Which of the following items would not be considered in a partial budget?
	B. capital investment.
	25. For the $50,000 loan in question 24, how much total interest is paid over the life of the loan?
	C. $28,000.00
	32. You have leased forty acres which had a yield of forty bushels of wheat per acre potential. You leased the land on a crop share basis in which you give the landowner 1/3 of the crop yield. If the price of wheat is $3.00 per bushel your share of th...
	C. $1,600
	35. An increase in the value of the U.S. dollar relative to the currency of other countries should result in:
	B. $1,703
	D. $4,500.
	38. How much total interest is paid over the life of the loan?
	C. 300

	C. .62: 1
	A. land
	D. buildings.
	C. $5,000
	24. A beef cow produces after-tax returns at the end of the year of $90/year for S years and can be sold for $500 at the end of the fifth year. How much could the producer afford to pay for the cow?
	D. $836
	Name
	6. A marketing function which tends to regulate the supply of a product and provide a stable market is:
	C. processing.
	B. $2,340
	12. You are considering the purchase of a combine, rather than continuing to hire a custom operator at $22.00 per acre. If you purchase the machine, the annual fixed costs (interest, depreciation, etc.) will be $ t 5,000. The variable cost is $IO per ...
	13. At the beginning of the year a farmer had a loan for $150,000. The interest charged on this debt is l0% APR. If the farmer makes a loan payment at the end of the year of
	14. Marginal revenue and marginal cost are useful in determining the profit maximizing output level. Profit will be at its maximum level when marginal revenue:
	A. a decrease in the demand for bacon
	24. Accrual accounting:
	B. $95.24
	C. $12,090
	37. A statement showing receipts, expenses and net returns on a farm for a year is called a(an):
	48. Bob's debt: equity ratio is:
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	2006 Okmulgee Ag Econ Test
	Select the most correct answer for each question. Each question is worth 5 points.
	B.  $ 2,000
	24. The difference between a cash price at a particular location and a specified futures contract price is called:
	27. The tax you owe on each additional dollar of taxable income is called the:
	31. A feed lot operator buys feeder steers, finishes them, and sells them. The operator estimates that the finished steers will sell for $80 per cwt, and that it will cost $250 per head to bring them from the 700 pound purchase weight to the 1100 poun...
	32. A grain combine can be purchased for $90,000. Total annual fixed costs will be $12,000, and variable costs per acre will be $10 per acre. If a custom operator can be hired to combine grain for $25 per acre, what is the minimum number of acres one ...
	33. On March 1, a farmer borrowed $25,000 to buy seed and fertilizer. On December 1, the farmer repaid the $25,000 along with $1,828.13 interest. What is the annual interest rate of the loan?
	D. 18.28
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